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= St /7 crvi ENGINEERING

k/le-m Weight of one bag of cement is:
U®F 91 A @1 gur Sar &

(A) 70kg «(B) 50kg ' @
(C) 60kg (D) 65kg
. 5&2@) Los Angles machine is used to test aggregate
A) Cmshf'ng strgngth (B) Impact valuer- @‘r @
(C) Abrasion resistance (D) Water absorption - - :
S AT T e BRI D e @ ford
a1 srar & :

(A) Yoo Hed & 9 (B)ﬁaaaﬂﬁa%ﬁ‘»f&
(©) svedor yfomy & farer D) —iq sygemwor & o
The insaluble residue in cement should be

(A) Between 20% to 25%

(B) Less than 20% N @

(C) Between 10% to 20%
« (D) Less than 1.5%

e ¥ argeaefia savw Sy =gy
{(A) 20% & 25% o i @
B) 20% @ HH ;
©C) 10% 3 20% & &=
D) 15% I FH
f For checking the length of bricks as per Indian standards how many bricks
are to be taken:

Wﬁuwﬁmﬁv#ﬁaﬁwwzﬁﬁ@ﬁmﬁﬁﬁm

ST enfa:
(A) 10 @) 15
(© 206 °<<D) 25

V/S@ In analysis of rates, contractor profit is taken at the rate of
Wﬁvéwawamé‘aﬁwmamwmﬂ?ﬁﬁr %:@

A) 1% B) 5%
» (C) 10% D) 20%
Thickness of plastering is usually:
\—f”&) O @Rex @ e B & P
o2(A) 6 mm s (B) 12 mm g :
C) 25 mm (D) 40 mm
/@ No deduction is made while plaster measurement in case of small openings
upto '
R B TNE D wwm . wR BT/ GREl /g SiEr ax
P FAN 9E B o 2
-{A) 0.1 sq.m (B) 0.3 sqm
4(C) 0.5 sq.m (D) 0.7 sq.m
' 2 [PToO.
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fafye St / CIVIL ENGINEERING
Principle of surveying followed to prevent accumulation of errors is:

_(A) To work from whole to part

(B) To work from part to whole @
(C) Both (A) & (B)

(D) none of above ‘gﬁ &
T el @ A aq wEeT @ PR Regia @ ﬁ’
(A) YOI |AFT & yif¥rFs WrT & 3R [T HRAT 9
B) if¥es 9T § Gyei |rT @ R Hdeor S 5

(©) =¥ (A) @ (B) & .

(D) SREa F B v o4

As per Indian standard, the length of one link in 30m chain is ap)
WG AEHIER, 30 A e B Tw @ B e S L
(A) 30 cm - (B) 20 cm. oot [
(C) 40 cm (D) 10 cm %

f reduced bearing of a line is N 87°W, its whole circle bearing will be:
afy frlt Imr @1 waEa fRaaE Narf’w% ?ﬁmgﬂ?gﬁw&o

BT : s
A) 870 ®) o3 .‘

=]
<y 3° D) 267° DR? 12%3
1@ In a plane table survey, the plotting of inaccessible points can be co vemenﬂy
done by 5
a (A) Method of resection (B) Method of radiation @
(C) Method of traversing &) Method of intersection

for figall & g8 w9 g (0T ged) o ¥ AGAT Wia A 8
Td fagail & Rafa sneaaa 9 w9 Saa wdeor @1 fafer & smar
| fa o |\HEa &

(A) Refy fAeo fafer (B) fJfezor fafer

(©) wraf¥r fafgy @®) uftree faf

Line joining points of equal elevations on earth surface is called

(A) Contour surface (B) Contour gradient Cl o:)
®(C) Contour line (D) All of above ’
geflasl @ WHI S arel fagell @1 e areh Y ssanh &
(A) <X ¥E B) Fx UleT=<

(C) . &<z &= (D) QU |/
] If angle of internal friction of soil is 30°, coefficient of active earth pressure

will be:

fe gar &1 aaiRke wT $Hior 300 { I1 @fpa QRew) g quns
(A) 1/2 e (B) 1/3

©) 1/4 (D) 2/3

EJE-2015 / 1i_A ] 3 [ P.T.O.




he angle of internal friction ¢ for cohesive soils is equal to
WEAG GET H sraflkes edor eror ¢ BRI
«{A) 0° > (B) 30°
(C) 450 (D) 15°

Plasticity index of soil is equal to

\6- (A) Liquid limit- Plastic limit (B) Liquid limit- FElastic limit ‘F'Vt \3>
(C) Elastic limit- Plastic limit (D) Elastic limit- Consistency limit
(A) T9 9m—gucd WHr B) wT - uycaer AT
{C)mm—wﬁmm)mﬁm—mm

\)6 Tafdw Shtmfar 7 civi, ENGINEERING
T

1 Coefficient of uniformity is ;
i E\\r\—\
(A) Do ) Dzo >
Do @ Do !
D50 .
©) D4'0 » (D) None of above / sudtaa 4 wig «df
- 4 :}@The maximum size of clay particle is -
: e ey & sof @7 fSHas 79 '
(A) 0.1 mm : (B) 0.03 mm @
o(C) 0.002 mm @) 0.0002 mm
\/l;f If salt is added in water, the surface tension of water will’
N B(A) Increase —2(B) Decrease
(C) Will not change (D) None of the above
T W NG Hie™ Y Ui et g5 g
(A) =TT B) &7
(©) suRafda = (D) Sudaga d 9 HF a8 ¢
/@When metacenter and center of gravity of any floating body coincide, the}
floating body will be: '
(A) 1In Stable equilibrium (B) In Unstable equilibrium
® (C) In Neutral Equilibrium (D) in Real equilibrium
mwwﬁewmﬁ%wzﬁewmgmw
A) Rer wges & (B) 3Rer vgerw &
(C) Sa™= wges # (D) arEIfds wqas &
\\/Z@Flow in a pipe is laminar if the Reynolds’s number is AR
® (A) Less than 2000 (B) Between 2000 and 4000 @

(C) Between 4000 and 6000 (D) Equal to 10000
9IS H W gaiE @ Y e AT B o
(A) 2000 ¥ HH (B) 2000 ¥ 4000 & &
(C) 4000 9§ 6000 & o (D) 10000
4

EJE-2015 7 1I_A ] [ P.T.O.




faf¥ye sohiemfis /7 CIVIL ENGINEERING

When various fluid particles move in Zig-Zag paths, flow is called: e
(A) Laminar flow ©  e(B) Turbulent flow 9
(C) Uniform flow (D) None of above
as udre, Fed 9aw g9 &or A Arl & vaifadg 8 2 dEaar &
(A) TN ydE ‘ B) faass gaw
(C) 3mRadi uaE (D) SREd # I A8l
22  The color of upper part of kilometer stone on road side in case of state ‘”
highway is
H(A) Green 2 (B) Yellow (C) Brown (D) Red
WW%W@@W%WT@E#MW
w1 B[ OBRIT OB ,
(A) &1 @) e C) g (D) <A
\/2‘5 The width of broad gauge is
T sire 1w @& e & &
(A) 1576 m «(B) 1676 m () 1776 m 1.67 m

ARNT A8F HIUH & IqAR GAAA R Sfew dfsve 8kl 2

\/Zf@ The value of ruling gradient in plains as per Indian Road Congress
(A 1in10 @) 1 s i in 20 *(D) lm3OE] )@

A) 10 #H 1 B) 15 H 1 (C) 20 #H 1 @) 30 # 1
© The maximum aliowable super elevation is: *
(A) 1lin 12 GO0 WY ) Aa'15 M) 1in30 - }
frpad e gav Joder— &1 Ji9 = ,
(A 12 ¥ 1 (B) 18 H 1 (C) 15 ¥ 1 (D) 30 # 1
\_)@ Manhole is generally provided at each: »~ " '
(A) Bend (B) Junction
(C), Change of gradient + (D) All of above
HAFGAAT 1797 Sdr &
(A) B HIs W B) BT TR W
(C) vavim d§ & uRadd 9 (D) Sudaa ¥t U
The solid content of sewage is usually: v
WEFIaAT AdW (He) d St Hol @Y "Il s 8 @
(A) 99% (B) 80% (©) 15% @) 1%
The dissolved oxvgen concentration with the increase in
/® temmperature of water. 2 e
e(A) Decreases 13

(B) Increases
(C) Remains same
(D) Sometime increases and sometime decreases 2

STl &1 T9HE 984 UR S Ao "gfera sifeRfiem @Y wEn
(A) "9chl B (B) sgd & .
(C) a& =T ® (D) TN Se & 3R N ey 2]

EJE-2015 7/ 1I_A ] s [ P.T.O.
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fafrm Shifmfr / CIVIL ENGINEERING e
@ As per Indian standard (IS 10500: 2012) of drinking water specification,

concentration of iron in drinking water should not exceed: Al
HRAT AFS (IS 10500:2012) R &1 ari—fafifRe & sgur, 99 & el
H A’ @ Tigar . | g 8 =8 =f2w
A) 0.5 mg/L (B) 0.4 mg/L

EQC) 0.3 mg/L &~ D) 0.2mg/lL

(:?0/,‘25 per National Ambient Air Quality standards, maximum permissible
concentration of NO, (24 hr. average) in ambient air in residential area is

?@anﬁaﬁmﬁmwémmaﬁaﬁNoza%m

HS @ rae sifSiead w81 9odl =

(A) 100 pg/m? - B) 80 pg/m® -

(C) 60ug/m? (D) 40pg/m>

The breadth of nb in a T-beam should at least be equaltothe _ _ depth
‘/3’@ of rib, - =

(A) one-half -a (B) one-third .

(C) one-fourth (D) one-sixth

vs—E—era ¥ Ry @7 s, m@rmﬁaﬁmﬁ?ﬁrmm—

(A) TH— 3EN @) TH— <FE

(C) Uwm— =g D) TFH BoT

.32~ The tensile strength of concrete, expressed as the ratio of compressive

@strengthls
Wﬁ%ﬁﬁﬁ%ﬁ%ﬁ@ﬂmﬁaﬁm#waﬁ%m%l

1 1 1 1 : @
(A) =3 & o © 13 o O J |
33 In a pre-stressed concrete structure
(A) dead load of structure is reduced
{B) cracking of concrete is avoided @
(C) the cost of supporting structure and foundation is reduce

e« (D) all of the above

URn S Phic @ o= T o

(A) EET &1 S OR BH BT STar 2|

(B) BT H TN M | > Ol 81

(C) BRI &9 9Gen O¥a-1 Ud A9 &1 Jod »H B ST 2
(D) TURKT N

j@ If o is the stress im bar and T,, is the design bond stress then@
- - - i B -

development length of a bar of diameter ¢ is given by: 7.2
afs o, T we A ufae 2 iR 1, affieey oie wRma & or
I ¢ P ve P e g 39 USSR s =R

49 o D c 20 o (Dcs

a "® I, © 3 ®) 1,

%

bd

EJE-2018 / 1I_A ] 3 [P.T.O.




A5

required is' — @
ot (A) 0.375 times the area of steel provided in shorter span

MC) 0.75 times the area of steel provided at mid-span in the same direction

o

Ao

/‘(%

s Sfmftr / CIVIL ENGINEERING
In the design of a two-way slab restramed at all edges torsmnai remforcement

(B) 0.375 times the area of steel provided at ‘mid-span in the same direction &

(D) None of the above 3

Tl faRr § IB Y (@ fawmsd @ de) ww @ feenga &
aYad guita uaci 8§

(A) B U # ya@ & & SFABe BT 0375 AT

@) I faen # do—uye w yeqm a @ SF6A BT 0375 P
(C) =¥ fam 3§, Na—-uyic R ueH a9 & HIBA BT 0.75 AT
(D) SuwRIEg | HE TE

In double reinforced sections, total reinforcement percentage should not :'g
exceed: an o

e wdfaa Saodl ¥ W @) $el wEers gfewrgarn _ y
s A8 B Tz

A 4 ®B) ¢ < 8 @) 10

A reinforced concrete beam, supported on columns at ends, has a clear span

5 m and 0.5 m effective depth. It carries a total uniformly distributed load
100 KIN/m. The design shear force for the beam is

wwuﬁaﬁeaﬁﬁmﬁwsm%ﬁmmm
05 m Bl SRT GY oo GHIAANRT HR 100 KN/m & &RA ol E.-.' O
P4 ¥ B

(A) 250 KN (B) 200KN (C) 175 KN (D) ISOKN

The term ‘Characteristic load’ means that load which has a probability of not-7 .
being exceeded, during the life of structure is equal to: b
TEOTRAS AR | O9d 89 AR &7 & orad i a1 WReer @ ohae

H TH WR A A aga B @yEar Gefefed) s o

(A) 90% e(B) 95% ©) 99% D) 100%

The tensile strength of concrete in flexure as per 1S:456 is:
IS456 & IFAR AHAHA @FfST) F wIHe w1 ama wmd Bar 81 A

A) O-GJéf:ck 3B 0-7\’};1: (83 0-751,‘fck @) 09/ @D

For a slab spanning in two directions the ratio of span to the depth of slab
should not exceed

aﬁmﬁﬁﬁaa%féw.ﬁamm(ﬁﬁ)ﬁmmm@
e ¥ ST =98 g9 aifag
(A) 10 (B) 20 «{C) 35 D) 50

EJE-2015 /TI_A ] 7 [P.-T.O.




faRw ShfRafar 7 Crvin., ENGINEERING

/1 A masonry dam may fail due to- )
(A) tension in the masonry of the dam and its base

(B) overturning of the dam _
(C) crushing of masonry at the base of the dam
(D) any one of the above ™
(A) aiaa%ﬁrms‘qﬁmwﬁmaﬁmﬁ
(B) €™ & Yaied o
(C) & & Imr w ol & FHHGR BN 9
D) e F QA BE W e
/2@ Tension bars in a cantilever beam must be enclosed in the support up to:
AAA) Ly + 10dz(B) L3 ©) 12¢ (D) d
Where, d : Effective depth of beam
L4 : Development length
w%ﬂaﬁmwaﬁgmws@m@mﬁmmaﬂ%ﬁ:
(A) Lg+1o0d (B) L3 ©) 12¢ (D) d @a
SIET d o uaE ERE (GRT @), L, : R svarg

~43_  For field rivets the maximum permissible stresses in rivets and bolts as

given in codes are reduced by:
mﬁéﬁ%%ﬁﬁaﬁaaﬁ@'ﬁmﬁmaﬁwm'ﬁﬁ%%
%.

(A) 5% «(B) 10% ©) 15% D) 20%
-~ Rivets are generally specified by
/ﬂ@ (A) Shape (B) Diameter of head
(C) Overall length e(D) Shank diameter @
Ract =1 o pad s 27 4
(A) ITHR ]| B) B 3 a9
(C) wHO] =g | (D)?faa‘#mmﬁ\quf. .
The specific gravity of bitumen is baﬂ’}p

B fage= &1 smiftrs o &
(A) 1.78 J4B) 1.09 ©) 130 (D) 0.85
46 Separation of water, sand, cement from a freshly mixed concrete is called:
\é/. (A) bleeding (B) creeping (C) segregation (D) flooding N
Wﬁ@ﬁ@aﬁﬁaﬁtﬂam@ﬁeméﬁaﬁﬁ%%
Ay HrEaor ) fagdo (C) yge@mvl D) ATTTH

Plaster of Paris is obtained by calcining: TN
(A) Bauxite ¥B) Gypsum °<(C) Kanker (D) Limestone w’“\*
WIS 3% 9R¥ fras fFreams @ urer &ar &

(A) 9EIse (B)  foreas (C) FHbs (D) FAT-TeRrR

EJE-2015 / II_A ] 8 [PT.O.




fafra shfmfty / CIVIL ENGINEERING

\/ﬁl The plinth area rate for construction of first and thl]'d floor of the building
as per UPPWD has following relationship:

I
_ (A) Rate for first floor is higher than rate. for third ﬂ
" (B) Rate for first floor is lesser than rate for third ﬂoor

<«€¢C) Both rates are same
(D) None of above
UPPWDE%&@WWMWH%WWMWE%W%Q
FHH SEwd <9 H e den @ %
A worH Hforer @ 8RN Ffve @ vv A sifte B L2
(B) wuH #Hioter @ q¥ Nad H#iae @ @k W dH B
(©) =t X waE €
D) TYET H PIE TG

4 The order of booking dimensions in standard measurement bool(@
«(A) Length, breadth, height (B) Breadth, length, height

(C) Height, breadth, length (D) Height, length, breadth

Hi\ies w19 YRkt ¥ AW (SEE, #ies, Seng soaifa) WRA &1 A e
BRIT &

(A) <iErg, =Hierd, $ag ®B) Ao, e, Gy

©) Sud, diQE, o D) Gag, oy, dsE

dimensions of door is multiplied by:

Yorer Teaiel e de @ oFh g8l @a SFl wiid bt B ford, qRarst
R AU H | n fegr Ssar &

(A) 125 (@B 225 S 1 o(D) 2 ®
The size of modular brick is

(#9) wrger $S1 ot PR dar

\/0 For calculating the total quantity of paint on both sides of flush doors, outi:@,

(A) 10 % 10 x 9 em *B) 19 x 9 x 9 cm

(C) 225 x 10 x 8.5 cm (D) 22,5 x 8 x 9 cm @
Unit of measurement of D P.C. is

(A) cum « (B) Sg.m (C) Meter O) Kg (&3 J@
DPC. @ HiT & FHE BN B _

(A) =9 HWiew (B) @ #WMiew (C) #ex (D) far

Theodolite measures: -
(A) Horizontal angle only )
(B) Vertical angle only _
*» (C) Horizontal and vertical angles.
(D) Honzontal distance
PrSArsT & AMr ST "adr &°
(A) waa afos @or (B) ®ad FHEdER ?ﬁm
(C) afas gd Sk Pr D) afs gt

EJE-2015 / IL_A ] 8 [ P.T.O.




fafra §Mfraftn / CIVIL ENGINEERING

354, The series of closed contours having higher contour values inwards represent
@) (A) Flat plane (B) Valley .(C) Hiil (D) Lake
w@éﬁmﬁmmaﬁmﬁu&mmaﬁ T3

RET Bl O 98 I BF

(A) e waw (B) 9 ©) v D) e, .

Alidade is used in .
A#®) (A) Chain surveying (B) Leveling

«(C) Plane table surveying D) Compass surveying@

VST BT SUAPT AT v &
(A) ST Hdeor H

(B) dietor

(©) =1 2§a (R=or gow) ademr §
- (D) T Gdeur #

s\ The longest chain line passing through the centre of the survey area is

known as p
(A) Base linee (B) Tie line

(C) Check line @) None of above

iﬁ&maﬁ%‘m%mﬁm&ﬁﬂ@ﬁmﬁa%@aﬁmmﬁ

(A) 3IER Ygr (B) sHunT Y@y

(C) <rg ¥Er D) SR d HF T8

The survey, in which the curvature of earth is considered, is ¢z ed;_“
« (A) Geodetic surveying (B) Plane surveying

(C) Geographical surveying, (D) Land surveying
ag?ﬁam,%mﬁgaaﬁa%rhaﬁuwaﬁmﬁéawi

(A) YuysBdim |deyur B) "I “ﬂ&zﬁw
(©) ifes wderor D)  —wderor

\/@' For a given degree of compaction, graph between dry unit weight of soil and
water content in soil is called FN NS
(A) Compression graph *-(B) Moisture- density graph /46 A

(C) Void ratio graph (D) Porosity graph
Mmﬁwwwﬁswmmawﬁmaﬁw

(A) HN=sH o ®B) -M—a-a a3

(C) Re«r sFum am D) wuaT am

The effective size of a soil is

Gt @ W S oo 8 87 @

*(A) Dy, B) Dy (©) Dy (D) Do el .

60 Which of the following soils has the finest grains? _ .

(A) Coarse sand B) Silt dg( o

(C) Fine sand o (D) Clay @

fFr=feRaa % wasr wdm »or frad By &

(A) =18 T L ®) =

(©) #=EF s D) fFHN mar

EJE-2015 / A } 10 [PT.O.
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A soil has 30% air vcnds It has a porosu;y of 0.4 The air content of that soﬂ
% shall be:

wwﬁao%argwﬁlmwmo4§lwﬂaaﬂmgw S

BT ~:s
(A) 0.75 - = (B 012 4@2' -~ /e:‘," _{_~6( <A
Ao 133 8o ™ 077 S =y
Due to rise in water table, the effective stress in soil: _ 7 po-)
{A) Increases ®(B) Decreases ‘(.) L @ 4
e (C) Does not change (D) May increase or decrea \),\‘ =
’wo*mwﬁmwaﬁmﬁwﬁrqﬁaﬁ e
" __~' (A) qgdal ® @) =cdr 2 " Q
Go ) Waﬁéwﬁm%m)ﬁmﬂeaﬁ#w%li’

W If void ratio is 0.67, water content = 0. 188 and sp. Gravity = 2.68, the degree X
@ of saturation of soil is:

h aﬁ:ﬁaamwmo.m%,ﬁaaﬁmﬁo.ma%aﬁ?mﬁféwm—

- 268 % or ﬂa‘{ Gl ?quﬁ HY 7T B
A 35% B) 40%
ﬁ}- 75% (D) 60%

\@ Rota meter is used to measure
® (A) Velocity of fluid (B) Kinetic energy of fluid

(C) Viscosity of fluid I)Q(D) Flow of fluid < LF= ﬁ.
wp SIS H HIYGT Sl = . - \}
(A) €9 B uHars B Qi (B) wa &FH AR SHor S
(C) «g o1 =T (D) &9 &HT UdE \
Pressure energy of fluid can be increased by using: D, L
‘@ (A) Turbine L AB) Lump ""0 —
(C) Viscometer £_ - (D) Hydraulic ram
Waﬁaﬁmaﬁwﬁa%%ﬂmaﬁﬁmgﬁﬂaﬁmﬁ%
(A) <TEIEs— (B) UH™
(C) faTmrErd (D) Tfa®s = @
\_@@) The ratio between inertia force and elastic force is caIIedgo
) Cauchy’s number o {B) Mach’s number
(C) Weber number (D) Reynolds’s number \Uo% %
SSal § TE WAl §o] @ U BV ... wEd i LN
(A) SN Awar (B) #Aw wEm t
(©) dAax ww D) ¥ifes we LY
y i? As compared to roadways, maintenance cost of railways is
G\ (A) More 7 e(B) Less @ @ '51)&
(C) Same (D) None of above ok
TTEMT B IMUeT Yod 1241 bl RS0 oI _51’
A) =ifSw B By TH B RY
(C) ww = B (D) SR i BE T8 -,,\&
JE-201S / H_A ] Tt [ P.T.O.'?’/
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The highest point on a carriage way is known as:

(A) Camber¥& oB) Crown e
(C) Super elevation : (D) Gradient
AR Y B R UR Oerer fdg wEoeT &
(A) R _ @B) wHrEa
.. (©) gux vaaws (D) UsT= ¢

' Number of fish bolts per fish plate joining rails are-

(A) 2 - ®B) 4 @
g (C) o (D) 8
% For a sewer line of 50 ¢m diameter, the spacing of manhole along straight

-

run would be approximately. ' O
U S50 cm W 61 Waxw o > g, AaSdl B Se—a g &) s
o BFft =ifdvy ;
(A) 10 m -(B) 100 m @
~2_ (C) 500 m (D) 1000 m ~ .f
9 Cowl is provided at: ‘ % fﬁ
‘/’a (A) bottom portion of ventilating column (<) : %
« (B) top portion of ventilating column - S
(C) top portion of manhole
- (D) at sewer joint *
T(A) afedfn sem @ Pad BR o
* B) afcafRw wem P SuHN BR U
(©) #9861 @ S9N BIR g
(D) Wa¥ ugl & ol O
72 To control vehicular pollution from exhaust of vehicles, following is fitted:
(A) Electrostatic precipitator * (B) Catalytic converter T
(C) "Bag filter (@) Cyclone separator
Wm%ﬁameﬁ%m%#wﬁaﬂv(m)ﬁﬁw
ST ST & .
HA) Rer ¥yg sdifts @EawY @R uf¥fatew)
- (B) SER® ofRkactes (@ofefes sadx)
(©) AT freex
. (D) wEFTIHE WReEY (Fmhara gufes)
/‘% As per Indian standard (1S 10500:2012) of drinking water specification, pH s
) value should be in range of : Gi

1 e W e -
(A) 65-80 ~(B) 65-85
(C) 60-85 @) 7.0

W A6 (IS 10500:2012) Tﬁ?“f'ﬁl‘ gri— fafefee < pH T #HI
L

EJE-2015 7/ I_A ] 12 [ P.T.O.
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; Sewerage system starts from
@ H(A) House sewers oZ lateral sewers /@
(C) Branch sewers (D) maln Sewers
WIS oS e BRi &
(A) T8 a3 § - (B) Urd Aa=T &
(C) wmEr dEst | (D) T AR ¥

&

The effective length of a steel column, effectively held in position and
restrained against rotation at both ends is:

(A) 080L ‘ B) 10L
) 065L @) 05L @
MCWhere L: length of column ~£

‘Uep eI WO & WHE oiets, fory saa Refa & v v 8 o 39S
ST fFR @7 o § FRfm e T ey

(A) o0s80L (B) 10L 2
(Cy o065L (by es5L

oEl L wH &7 arg #

i
76 __. The member of roof truss which supports the purlins is called as: @

78
G?

©

(A) Sagrod (B) Main strut ~
-(C) Principal Rafter (D) Principal Tie
wd &E T gE e o ufelH 1 "WewRr @ @ ST &

(A) SeREl B3 B) TIE =P
(C) "gE ua& (D) = HiErT (@)

As per Indian standard Sp‘&thC&tl‘OﬁS concrete should be cured under a ">

humidity of @

WWW%WWaﬁﬁmm(ﬁ)ﬂﬁg

(A) 10% (B) 50%

(©) 75% «(D) 90%

earlier than the permissible stress in steel, the beam section is calied

(A) Under reinforced section ®(B) Over reinforced section .

(C) Balanced section (D) Economic section '
el $9 9 waferd s § ufe saie ¥ el afied s & &
nﬁw%m@tﬁw%ﬁrwa@qﬁ%@ﬁ(m)aﬁm%

(A) A ufags sR=og ®) g wfss a=eq

(C) wEgfery gRk=oa (D) P 9f=eg

For the deflection of simply supported beam of 8 m span to be within
peérmissible limits, the ratio of its span to effective depth should not excee

sﬁa%ﬁ%%g@ﬁﬁﬁmﬂm%mmzﬁm

& ford fasgfy &1 vwrEar Teerll & wRr SFgaRt PR 3 ?%}E:HF

=ifaa: (o w/
(A) 7 «@) 20
©) 26 ®) 8 z°

In a singly reinforced beam, if the permissible stress in concrete reachei)
4%

EJE-2015 / Il_A ] ' 3> [ P T.O.
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8¢ Shnnkage in concrete slab @ -
@ (A) Causes sheer cracks P G%) Causes tension cracks O\
(C) Causes compression cracks (D) Does not cause any crackmé:;\

Pl WY ¥ fimesd 9 o gar &
+ (A) AT IR B) T YR
(C) =3 kN D) FHIE IR A8
81 In order to avoid sliding of masonry dam, the force of friction between the
dam and soil should be at least the total water pressure per meter

length - e
(A) Equal to -ﬁ,{B) 1.5 times ¢ @)
{C) Double @) 2.5 times

Wmﬁmm)ﬁﬁﬁé‘m.waﬁeﬁa%%w
T W HT AT ABT ¢H Mex A ugew ot 9 QB oo

(A) TTER (B) 15 AT
() g (D) 25 I
The diameter of longitudinal reinforcement bars of a RCC column should
@ never be less than:
IR & A srgeed €87 &7 &y ad 9 L q B T8
iR | \ gt
(A) 6 mm : B 8 mm ([
(C) 10 mm e (D) 12 mm
A reinforced cement concrete beam can have maximum area of tension
¢4 reinforcement as
(A) 0.06bD @B) 0.026D @
(C) 0.05bD : « D) 0.04bD ﬁ} %&)

Where D = overall depth of beam
b = Breadth of beam )
TF waferr Wi e sRT A a9 gee @7 Afleaw a5 &Y

THaT B
(A) 0.06bD (B) 0.02 bD
(C) 0.05 bD (D) 0.04 bD

SIEl D = 89 @ @l TENE, b = =RA @ dreRE

he minimum size of one side or diameter of column in reinforced cement
concrete structure to make it earthquake resistant should not be less than:

HIFT T R & HH a8l BT g

(A) 200 mm * §B) 250 mm

{€C) 300 mm (D) 350 mm
EJE-2015 /H_A ] 14 [PTO.
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@ The spacing between two successive stirrups (hoops) in reinforced cement \Z
‘ concrete beam shall not be less than: £

e Whfle @ae ova § @1 oaR Wd et (Rew) & §= & @
............. A HH ASL BFT AEA:

®
(A) 100 mm A D<(1?.) 125 mm = %5 ‘v,*‘ ‘ ,x\sb‘
«© 150 mm . 175 i ot

6 The concentration of organic sohds in water to be used in relnforced cement
concrete contraction should not be more than:

ygfera e e BT § ITART # JA OF arel 9t A HEfaa wmoit

BT ATAT o w s T8 8F =ifEd /61}—\
(A) 50 mg/L (B) 100 mg/L @ '

(©) 150 mg/L& .o (D) 200 mg/L

\}7 According to Whitney’s theory, uitlmm of cor
' @ﬁu%ﬁqmmammmﬂ)ﬁﬁmmm

oz (A) 0.03% B) 0.1%
€) ©03% R~ ®) 1%
As per IS 456-2000, formula for calculation modular ratio is- _
IS 456—2000 & IJFHR HGIH AT T B &1 YA B— @

be

280 Z800
A . ?
, ‘_( ) Socbc (B) 3Gcbc @
- 3Gcbc 280
© 250 () Ccbe

89 As per IS 456-2000 thickness of flat slab should not be less than
IS 456—2000 & ITHER, TUS! wWia P HAerw Fraifea @ 9 58 89

=fag— @

(A) 15 cm Qe@B) 125 cm

(C) 10 cm (D) 8.5 cm

In design of cinema hall width of Tread is taken as- «Oﬁﬁ@
DQA) 25 to 30 cm &(B) 30 to 50 cm 2_50

(C) 50 to 75 cm (D) 90 to 110 cm ﬁ

o s1@ aifeers # e @ dieE @ ol 8-

(A) 25 ¥ 30 ¥ (B) 30 ¥ 50 | '

(C) 50 &1 75 <Y (D) 90 ¥ 110 I

EJE-2015 / it_A ] 15 [ PT.O.
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\ % Due to end of circulation of shape or design of property is known as

A) Uncirculation (B) Distress value )
(€C) Salvage value (D) Scrap value
e, HEATIT B R
(A) Su=EeH B) ¥Hoc Toua (Distress value)
(C) +HE= ™ D) H&FaT T

9 In Building construction, for one time surcharge for Electricity and water is //)
@ added for the cost of . % total cost of building.
" o F faga @ urlt & ohHed WR @ R wae onra w1 L
...... % SIreT oiar 21

(A) 12% (B) 10%

(©) 8% . (D) 5%
93  In masonry works, while doing ‘Rate Analysis’; water-surcharge is taken as
® =X RAvawer T wHg-REE wEt o 9 @ Wi L % ®|M T

S

Hepd | Z il
(A) 10% ®) 5% o
(©) 3% e (D) 15%

94  If the fore bearing of a line AB is 35° and that of line BC 15°, then the
included angle between the lines is
ﬂf&ﬁ@é’?AB‘W&'ﬁﬁﬁﬂF{%”%&ﬁ??ﬂﬁBC?ﬂWﬁ'

15°,ﬁaﬁ$mmaﬁaﬁa§mm@ . -~
(A) 20° @) 500 5— | a
) 16009 @) 230° ° .&

% As applied to staff readings the correction for curvature and refraction are
25

respectively ;
(A) + and — AB) — and +4, @D
(€) + and + (Bb) — and — =4

e 8
(A) + 3R — B) — 3R + ©
C) + 3r + D) — ar —
The suitable contour interval for a map with scale 1:10,000 is
WWW1:10,®O$WWWW'. BT @
e (A) 2m ba B) Sm o
() 10m (D) 20m F
,ég/ Least count of ‘Prismatic compass’ is ; N

a) 1 ®@) 15 RN
- (©) 307 ®) 45 @ Ol

EJE-2015 / 1I_A ] 16 [ PT.O.
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98 Minimum Angle between axis of weir and canal head regulator is

fay g da Frasae &5 et & g gEaE ST BrEr =ifEd
(A) O° Am) o0° &
) o60° ‘ . (D) 120°
@ A canal constructed normal 10 contour lines of area is called

(A) Contour - canal 4(B) Watershed- canal @
(C) Side slope canal) - (D) Single Bank canal @
(A) THI= A8 B) gy H8Y
(C) &1l et =987 (D) TUdci dc 8%

1 Hydro scienee (Hydrology) cycle is denoted by equation

] ST fREE 9 o HNHIOT EWRT S9il SieT &)

e (A) P= E+R Rg_ (B) P= E-R @/b

(C) P=E.R (D) P=E/R

14 The height of Tsunami’s wave depends upon

< {A) Monography {(B) Seismography
(C) ILocal Topographyg/ (D) None of above
AR a3 @B SaArE ... gR PR Hl 2
(A) #AEITH o(B) fRrafamm
(C) w=rrfra g @) THH A g ABT

*Tower’ is made :

(A) For floating bridges. (B) For swing bridges. .ﬁ/
(C) For archery girder bridges (D) For dot bridges.
(A) Wa geil & faw (B) s yoil & fag

(C©) =y TSR y& & fog (D) Sie yai & fag
Penetration test on bitu is used for determining its: éﬂ\ b,
o (A) Grade /@ (B) \Viscosity 4

(C) Ducitility (D) Temperature susceptibility
fagas ox "wga gdaor Far sor 8 zud AEitea Pees @uiRka)

B B
(A) S9N (afiewon) (B) wgm=dl 1 9_
(C) a=gar (D) aTumH—ganEar 9 2>
164 Slope of village roads should be .usually less than @ 9% 3
°@ ta =B TSHT A U TTA o H HH BT B -
(A) 1in 12 & (B) 1in 10 N '3)/‘
(C) 1in 4 D{(D) 1 in 3 %5
A3y L« Y ="
EJE-201S /N_A ] %’h-’&j 17 dﬁé’ . o/\;/;/ [P.T.o./‘u’_
=22 s>
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105" The Thickness of ‘Domer’ laid oads)- layer in ‘Bitumen’ Roads is-

(A) Sto 10 cm ) 2 to 3 cm ™
(C) 1to2cm (D) 05to 1.0cm
Ol weat % =R RoE e A wed o 7
(A) 5 ¥ 10 ¥ @ 2z q 3 TN
© 1 9 2 9% D) 05 | 10 ¥
/66 One degree of curve is equivalent to
() v siw @ 9w swER Bk @
1600 1700
A) R @ @) R
1750 1800
@) A

Where R is radius of curve in meter

SiEfd: 'R° e § g @ Broar 2

% Bottom most layer of Pavement is known as- @

(A) Wearing course (B) Base course N
(C) Sub- base course « (D) Sub grade _
Yoot T wES smae (Ud) wsr e &
(A) draf¥r o B) IR BRI
©) SU—IIER B . (D) [UUS .
The specific gravity of Sewage is- @
‘@ (A) Much greater than 1 (B) Slightly less than 1 @
(C) Equal to 1 « (D) Slightly greater than 1
oo w1 faffre o9 ST &—
A 1 9§ sg5a IS 3B) 1 UI|T BH
©) 1 & SREW (D) 1 H odrer arfes
109_ Standard B.O.D. is measured at %
@ (A) 20°C - 1 day (B) 25°C - 3 day @ Q}
e(C) 20°C — 5 day (D) 30°C — 5 day N
A d1 3 € @ =g B 2 )
(A) 20°C — fas B) 25°C —3 fo=
©) 20°C —s fe= D) 30°C -5 fe=
0 In sewer line, at 12 o’clock of day, flow is approximately of
/@ average glow. ,
> (A) Half (B) Equal @
_ (C) Two - times, (D) Three - times
WAy a9 ¥ a7 3 12 I @ oprwr gaw ANTT waw BT
srar 21
(A) 3mEm B) Tu=H
©) v ®) & o

EJE-2018 /LA ] , 18 [P.T.O.
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Moment of Inertia of circular area having diameter ‘D’ about the axis is

passing through the center of gravity.

&N D &= @ FgEaER aFGA BT Poed Bea o rbert arell e u”

Srear got Brm—
n- D* @ - D%

X
(A) 32 (B) 28 %
- D4 - ; r - D4 o
o © 64 ) 12
i The group of forces, whose resultant is Zero, is called
.-(A) Equilibrium force (B) Coplanar force Q%
(C) Collinear force (D) Concurrent, force -
o st @& dc &1 g @@ = 8 98 ... HEART B}
(A) ORI 91 (B) wWHOd 9
© wRE A (D) W T

3 Two equal- and opposite direction forces ‘f” acting, and then value resulting
force will be- .
1 W 9 Sad) e 3 $Ed w9 9 89 () & aRomh s &1 H7iE

?2311_414 £ @) 2f @ \x

«(C) Zero/TH D) 0707 f

The moisture content in a well seasoned timber is-

o) (A) Zero B) 5to 10% _
> (%)

+(C) 1010 12% (D) 15 to 25%
e UBR GHls TAl dAhs) H Sion® &I "AET BT B
(A) = B) 5 | 10%
(C) 10 ¥ 12% (D) 15 | 25%

\JXS/AS per IS 269- 1975 initial setting time of ordinary cement is~>
(A) 15 minute . e (B) 30 minute @ @
{C) 60 minute (D) 75 minute
IS 269—1975 & IJJHR HRIRYT AWe & uRf¥e Srada 8rm 88—

(A) 15 =< B) 30 e

(C) 60 fAFC (D) 75 fa=e
-H6® When the plastic limit of a soil is greater than iguid limit, then the
@ plasticity index-is reported as: ' ) .

(A) Negative _+(B) Zero § CL/-F’

(C) Non — Plastic (NP) (O) 1 .

olT T @ gucd W, S w9drd | 3t 8l a1 gucy gadie

BT &

(A) ZHITHD - B) I

© IgucH : D) TF

EJE-2015 / lI_A ] 19 : [P.T.O.
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The minimum depth of foundation in clayey scils is >
) TR gERit § o & =gEan e S 2

(A) 05 m AN - B) 0.7m VON "
_5!(() 0.9 m ' D) 1.20m @

11 Putty is made up of
"j’l‘ (A) "White lcad and turpentine
\},B) Powdered chalk and raw linseed oil
(C) Red lead and linseed oil ) =
(D) Zinc oxide and boiled linseed oil
gzdYy SFa < o &—
(A) 9BE 9T U aREH BT a7 o
®B) i fTaGr ¢F w==r oS BT As B
(Cy o/l O Ud 3Tl &7 Od |
(D) Nie siodass vd IgaT IS =T 35 A

119 The sloped roof which is sloped in four sides is calied as

@ (A) Shed roof © (B) Gable roof .~
« (C) Hip roof (D) Mansard roo
CL1S R A T aﬁ-\r aveg, BRI B ... dEl oar 8

(AY TS (shed) wa

(B) =il wa (gable roof)

(C) YcoTR a1 HIET wa (Hip roof)
(D) gerst v (Mansard roof)

The slump test for finding out the workability in concrete the maximum size
of aguregate should nat exceed.

-

2 (A) More than 20 mm More than 38 mm J '
(C) More than 40 mm (8(' (D) More than 53 mm e
Hblc H gerhknm @& fag g¥eTr # fAenst w1 sfSreas w9 AE
BT wifEg—
(A 20 mm 9§ 3ifSp (B) 38 mm ¥ 31f9% %
(C) 40 mm 4| 31w (D) 53 mm | 3ifSs '
ﬁl The most familiar form of Bernoulli’s equation is-
@ S=ell WifeRor w1 ey e usEferg va 8- /“
P 2P b2 (2 )
Ay L+z +L-=_2 + Z, + =% K_/
W 2z w 2g
(B) %E+g-dz+v-dv= -

2g
(D) None cf these / S99 § H1F T8 &/
EJE-20186 /li_A } 20

f’ 1/2
AKC) [_;7 & & ] any section = constant head / i ¢ av = Rer Rrd

[ P.T.O.
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iz A rectangular beam of length ‘L’ supported at its two_ends carries a central

point load ‘W’. The maximum deflection occurred
(A) at the ends

B) at L/3 from both ends .# A

. EC; at the center : ;r:-.::l::”]‘
(D) None of above
UH IAHR eRA o L g9 R 9w anafaa B afwa g R
'Woggqd e B aﬁrasﬁrr faag srm
(A) ¥ e
B) T B d L/3 @t ¢ @
(C) =" #H
D) SUART A F HIE T80

3 If, the diameter of rivet is 25 mm or less; diameter of rivet hole will be
than the diameter rivet. 7
: \/QA) more than 1.5 mm (B) less than 1.5 mam -

(C) more than 2.0 mm (D) Equal 43
e =1 = 25 3 a1 sEQ &9 B89 O foe &1 = Rae
B o A BT |
(A) 15 1 & siftes B) 15 & | &H
(C) 20 01 | 3@ (D) \GHI '
/24 In general the depth of Plate girder is kept as . of span.
(A) 1/5 to 1/8 (B) 1/8 to 1/10
@ (C) 1/10 to 1/120‘Q(L’ D) 1/12 to 1/16 @
WAHEATIGIT, e TS & e AT G &l ol 8 g @ JaE sy &7
E
(A) 1/6 & 1/8 @) 1/8 ¥ 1/10 }(

© 1/10 | 1/12 @ 1/12 | 1/16

128 Tensile strength of mild steel is-T
(A) 1400 to 1800 kg/cm?
(B) 1800 to 2500 kg/cm? Rl @

e(C) 4200 to 5400 kg/cm?

(D) 5500 to 5700 kg/cm?2

g Fw@ra @ a9d wed 8kl 82—

(A) 1400 | 1800 fFHur /F2
(B) 1800 ¥ 2500 foHpur /a2
(C) 4200 | s400 fFUT /JA2
(D) 8500 | s700 fHurn /2

EJE-2015 / I_A ] 21 . [ P-T.O.
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1 An adiabatic process in a thermodynamic system is one in which there is?
(A) Limited heat transfer to or from the system through the boundary.
{BJ No heat transfer to or from the system through the boundary.
(C) No internal energy change. .
- (D) No energy transfer to or from the system through the boundary.
Udh SANOE dF & Sgicd WsbH H dar giar 87
(A) oREM gRT &3 # a1 93 4 Offda oo =m=EaveT
M) IR gRT &3 # aQU dF F ST BT DI AR T8l
(€©) a3 A F sraflRke SHoir alRada =8t
@) ulRAFT g7 @ H AT da QA Hholl BT Bis  RIIFR0] Hal

2 The difference between the actual temperature of superheated steam and
saturation temperature corresponding to its pressure is known as
(A) Degree of saturation (B) Degree of superheat
{C) Dryness fraction (D} None of these
S g A9 F I@e AOUEE 92 SHP 96 D IJFe9 Hgwd  JArgHE
BT IRR HeATdl B

(A) wgwar. @ & @) gﬂﬂ@‘c’ @ ST
(C) esHaier (D) =79 ¥ g T8
3 The type of coupling used to join two shafts whose axes are neither in same
straight line nor parallel but intersect is
(A) Flexible coupling « (B) Universal coupling
(€C) Chain coupling (D) Oldham’s coupling
HafeT, RrEsT IUFART |1 99e BT SirsA # Bar omar & < 5 9 v
N YT H € A Al T g D aHR afes R s e g @y
Hiea 8F
(A) veifrgss wufein M) Iada wufsa
(C) == Hafer (D) 3Ncsed Huafa
¥ Which of the following is extensive property?
. (A) Pressure (B) Temperature
¢ (C) Volume {D) Density
oy # faga fAdewy &9 & & 2
(A) <9H (B) <ma#HEA
(©C) ga (D) =9g

) For specifying the state of superheated vapour, one needs:
(A) Pressure
(B) Temperature
(C) Pressure as well as temperature
(b)Y Specific volume

sfrge sy & 9ol faaver @& fag frwaddt Sreva &t & ?
(A) 9H (B) <«
(C) 9 3R T SFr D) faffrse apgaa+s

EJE-2018 /LA ] . 22 [ P.T.O.
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6 In a gear drive, module is equal to
(A) 1/diametral pitch (B) I1/circular pitch
(C) Circular pitch/xw (D) Diametral pitch/r
oy waem A dAfgge @7 9 8xn B
A 1 /=Rma fag @) 1/g0a Mg
© g |/ xn ) =a fU=E/ n

4 For which of the following substances, the internal energy and enthalpy are
the functions of temperature only?
(A) Any gas (B) Perfect gas
(C) Water (D) Saturated steam
forfoiRaa & | b ger’ & forg sialRes ST ok ¥l Pdas daaa=
& B B OB ? ;

(A) d1F W T8 B) anEt ﬂva
© < D) Sy« =9

8 According to kinetic theory of gases, the absolute zero temperature is attained
when- -

(A) Volume of gas is zero

(B) Pressure of gas is zero

(C) Kinetic energy of molecules of gas is zero
(D) Mass of gas is zero

gt & wfaw fRigra & IgER W®A 3 duH™ 8K 8, Sld—
(A) T FT IITT I 8

B) N &1 W@ YA B

(©) T B 3Rl @ AR ol g B

(D? A BT wOHE T B

9 For simple Harmonic Motion of a cam follower, a cosine curve represents
(A) Displacement diagram (B) Velocity diagram
(C) Acceleration diagram (D) All the above
el Ada afy Ha g du widar #, SifRm uw gaffa wxar 81
(A) fAwengs s & B) ¥T D INA BT
(C) Aol 3IRE Y @) TTH T WA T

10  First law of thermodynamics furnishes the relationship between
(A) Various thermodynamic processes
B) Heat and Work
(C) Various properties of the system
(D) Heat, work and properties of the system
FEFIIPB BT gsen FraH W SudAs YAl -
(A) = swrifads umHr @ 9=
B) T IR T & =
© =3 @ fAafv= ToeEt @ da
(D) oo, TR R I & PORET B A=

EJE-2015 / II_A ] 23 [P.T.O.
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Change in enthalpy of a system is equal to heat transfer under following
condition
(A) At constant temperature (B) At constant pressure
(C) At constant volume (D) None of these
frar fFrem o5 odad & oReds s ofRfRert & g wwn wersmeroy
& AAMET 'BEIT
(A) Rer gas ™ ux B) fRem =g ux
(C) ReR amaga gv (D) 5787 § H1E =4

Spring stiffhess is -

(A} Ratio of coil diameter to wire diameter
(B) Load required to produce unit deflection
(C) Tts ability to absorb shock

(D) [Its capability of storing energy

fedit Rer 351 g=dar s 2

(A) FTFSAl TAT R P ATH BT IAguid
(B) Uwis f@venua @& 3¢ snaegs AN
(C) s9F gard @59 & aEgan

(D) ot UsfHa &3 35 aHar

The latent heat of vaporization of a fluid at 100K is 2560 Kl'kg What is
the change of entropy associated with the evaporation?

100 &féas1 9R U ©a @ gsaH & ST 2560 KI/Kg B a9 I Hwrag
U=t afRads oar & 2 .

(A) 6.86 KI/Kg-k (B) 256 = 10° KVKg-k
(C) 256 KIVKg-k D) -256 KI/Kg-k

In an isothermal process, the internal energy

(A) Always decreases (B) Always increases .
{C) Increases or decreases (D) Remains constant
HHEAYT UFH H, In=<iflss Hol—

(A) &HNT YT G 2 B) =B/HE 9@ AN B
(C) &N 3I=2ET i B (D) 3afRada <= 28
A screw is specified by

(A) Major dia x pitch (B) Minor dia x pitch
(C) Major dia x length (D) Mean dia x pitch
Uh g9 A >H ushia @ wh &)

(A) @ &g x = B) =g @i = o=
(C) =Y &My x oeTs D) #=g oy x g
Change in entropy for reversible adiabatic process is

(A) Positive (B) Negative

(C) Zero (D) Positive or zero
wfadfa vErm ume @ o o aRads ST 2-
(A) HSIRHEPB (B) =HUIHS

© = D) 9 Es I
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17 Kelvin -~ Plank statement is applicable to

(A) Heat Pump (B) Refrigerator

(C) Heat Engine (D) None of these
HIFT @wp P = B gw iH O#E)

(A) ST Gy (B) THIGRTR

(C) SET 83U (D) 39H 9 g -TET

18 The ratio of lateral strain to the linear strain within elastic limit is known as
{A) Young’'s moduius
(B) Bulk modulus
(€C) Modulus of rigidity
(D) Poission ratio
gred faglfy goar YE@u [QE & gaa o 91§ SRear 8
(A) T ArEggeH
(B) g ¥Hrsged
(C) B3Py gea &i
(D) 9w HAUTd
19 When wet steam undergoes adiabatic expansion then
(A) Its dryness fraction increases
(B) Its dryness fraction decreases
(C) 1ts dryness fraction increase or decrease
(D) Iis dryness fraction remains constant
STE AR WY ST BERTSH TR &rar & v
(A) TsHAS FSAT B
(B) YxpamN gedar B
(C) THST FHAY HE UGl 9@ "Har 8
(D) THHT I[YEpAN HRAFH I8T B

. " .
20  Relation ds= - holds good in case of :

(A) Reversible processes only

(B) Irreversible processes only

(C) Does not depend on the reversibility or irreversibility
(>) All real processes

R ds=£,}£?i,fa5ﬂ Refad § wé grar & ?
(A) Haa IOV uUHy

(B) Fadt IFSHHONA UhH

(C) JopAvfirar a1 sgoesavfiigar v iR =8 &
(D) ¥ a<dfas gmA

EJE-2015 /II_A } zs [P.T.O.
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In V belt drives, belt touches

(A) At bottom @)
(C) Both at bottom and side o)
V- 3hR &1 UTeT Wyl HRar =
(A) Pad fAgsh @as @ ®B)
(©) g o= T a @ HaE J (D)

Cntical pressure for steam is

At sides only
Could touches any where

TTA B BT g HaE A
Hal W

9 & i wifde " fhasr 2ar 2—

(A) 184 bar ®3)
(C) 252 bar (D)
Change of entropy depends on

(A) Change in volume B)
(C) Transfer of heat o)

vt &1 gRad= ey ovwar &
(A) 3naga @& uRada ov ®:)
(C) S & WIIaYeT O @)

163 bar
221 bar

Change in specific heat
Change in mass

Affee Swi @& afRads o=

TEHIH @ ufRads uw

In order to balance the reciprocating masses
(A) Primary and secondary forces must be balanced

(B) Primary couple must be balanced

(C) Secondary couple must be balanced

(D) All of above

RO SOHAE BT Hgferld s @ faig
(A) ufas auar oS g1 wEgfera 891 =favg

B) urifis | Hgfera 89 =nfag

(C) oS8 FH g 8= =anfav

(D) S99 | i

For specifying the state of wet vapour,

(A) Pressure
(B) Temperature
(C) Pressure, Temperature

one needs

(D) Pressure, Temperature and one more intensive property

3 gy B got faver @ fag e
(A) ==

®B) ™

(C) == Tq§ 99

DI SoYd BN &

O) <TE|, 99 T, ¢H I\ 89 aewar

Function of carburetor is to supply the following

(A) Only petrol 14:3)
(C) Petrol and diesel mixture (40}
BENESY BT B 79 yaE BT B
A) e ag= @)
(C) uYgra @ ot @1 AT (D)

EJE-2015 / II_A ] 26

Air and petrol mixture
Air and diesel mixture

I TA_T USIA BT R{sror
arg aur Sreida T fAsyor
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Governor sensitivity is the ratic of
(A) Range of speed to the minimum speed
(B) Maximum speed to minimum speed

{C) Mean speed range of speed
(D) Governor lLift to the range of speed

TEHR @Y Hagaeierar rgaa =19 €
(A) I & gRada =1 =2 997 1 JE=EE
®B) EOsaa I gm gAagH 9
(C) T T F=gd= a1 g37 &1 af¥acs GEr
(D) #EER A foae aur 39 @& uReEds @=r

For air standard Otto cycle

(A) Compression ratio is more than expansion ratio
(B) Expansion ratio is more than compression ratio
(Cy Compression ratio i1s equal to expansion ratio
(D) Cannot be compared

qIg "HTSG IMST "H A

(A) ¥H9sSH U, 99R AU 9 S BT 8
(B) WHUSH IGUT, TR JGUKT @ $HH SR B
(C) E9iST IUKd, ¥R UK 8 ¥ E BT 8
(D) Yo =81 BRI

What is true for heat engines?

(A) Efficiency of all engines is same

(B) Efficiency of all reversible engines is same

(C) Efficiency of all reversible engines working between same temperature
limits is same

(D) Efficiency of all engines working between same temperature limits is
same

FT =417 b g =7 9= &#°

(A) I =TT & gErar aEE B &

(B) w0 uRadia ot @Y s wa= ki &

(©) HHAE qEusE R & 720 S wfaadia g===1 & S87a1 99
B &

(D) HHE A SGERlt @ 7= HIEWa 3= B g8al §99E BT B

The stress in disc type flywheel as compared to rim type flywheel is

(A) Equal B) Less

(C) Greater - ' (D) None of above is true

fSp & ke uree = A RA & R & urags 9% & YHEa ufiaso
T HEFT :

(A) "RER Brdar =2 @) TH BRT B

(C) ifYp gmr & ®) =z A B wd T8 §

EJE-201S /H_A } 27 IPT.O.
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Which of the following is not an internal combustion engine?
(A) 2 — Stroke petrol engine {B) . 4 — Stroke petrol engine

(C) Steam engine (D) Diesel engine
FrafefRas 3 & P19 wr sicdes gom =8 & ?

(A) 2-F¥Fp agve €579 ®B) 4 G SO
{(C) =AM W+ ») IJrsa s+

Objective of Supercharging process is:-

(A) Providing forced cooling air

(B) Supplying the intake of an engine with air at a density greater than the
density of the surrounding atmosphere

(C) Supplying compressed air to remove combustion product fully

(D) Iajecting excess fuel for raising more load

AT UHH HT Igavad & —

(A) uohfea fra gy Sus=r =T

B) A o9 & Jaud T SW TG G G BT PR BT Gl
Rt agFEsy @ e 9§ S B

(©) & IoIraT B g8 v Feres @ g S0fea arg @ wheor @A

(D) e R Som & f&Q e su= =1 siadmor exvar

The property of material by virtue of which it can be beaten or rolled into
plates is called

(A) Malleability : B) Ductility

(C) Plasticity (D) Elasticity

geR! &1 g8 o7 fOrad S Mledx IWar oo gaoh gred d §Qdr T
Hepar X |

(A) ®EETHaT , @) a=dar

(©) w=flefad ' (D) g"==Ar

The process of removing the burnt gases from the combustion chamber of
the engine cylinder using fresh charge is called

(A) Supercharging (B) Scavenging

{C) Knocking (D) Detonation

A Gt BT gART SRe To @ fOfdivey @ s e 8 uviehl 5F Al
BT BT B Glhyr FHeondr B

(A) 3arfepgeer (B) 3gHESIH

(C) 3mwwmred D) AfSrEprea

The fluid in the petrol engine (S.I) during compression contain
(A) Fuel only (B) Fuel or Air

(C) Air onlv ‘ (D) Mixture of air and fuel
O SO o Wded $ E€RE Ove ¥ @y BT & ?

(A) &g 9+ @) T T @iy

(C) TFas ag M) o= TAT TRy BT Bsor

EJE-2015 /11_A } 25 {PT.O.
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A beam of length 1, having uniform load of W kg per unit length, is supported
freely at the end. The bending moment at mid spam will be
UdH =WRoT Rawan o /8 o ot @R ufer omis R wiE 9RO W kg BT
"R 8, gaa O gy d@ g 8 e g g aftssr "@pre @1 A 8-

wi wi?
(A —Z (B) —
wi? wi?
©) (D) =
In diesel engine, the suction contains —
(A) Fuel only (B) Air only
(C) Air or Fuel (D) Mixture of air and Fuel
roter gorA H fwst guur Siar #-
(A) Fad ge-H (B) ad aiy
(C) arg 3ar gui+ (D) ayg adAT guAa a1 Bson

The efficiency of Camot engine depends on -
(A) Type of engine

(B) Working fluid

(C) Temperature of source and sink

(D) Type of fuel used

WS o BT gwmar e s 8-

(A) SS9 & TFHR G

(B) &bl uarEl Wy

(C) wEORT 3R #ifdma @ JEEET O

(D) uYaT FEH & FHlY U

In a design of key, shaft, and pulicy

(A) All these are designed for the same strengih
(B) Koy is made weaker

(C) Pulley is made weaker

(D) Shaft is made weaker

e, @O a2t el @ aifiemeus H

(A) TET &) IEd W WA SR B

(B) &5 @51 wred R T W ¥

(C) 9geit 3 wEed od @ ot &)

(D) gz & yHed &H Wl o #

In diesel engines, the duration between the time of injection and iuynition, is
known as’

(A) Burning period (B) Ignition period

(C) Delay period (D) Pre — ignition penod

Srad@ g3 B oy gpwr 3N s |9ng & e @Y qat @1 oimny assy
wvarT & ? '

(A) ST Fiet - (B) wSOed  BIA

(©) fawrg w@ (D) gYd—gsasd &TA
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Fusible plug for a steam boiler is an alloy consisting of bismuth, lead and
(A) Copper 3B) Tin
(C) Zinc (D) Aluminium
Y & dGeR BT WA ©FT U g &1 997 217 § | Fored e
wrEr 3R Pes § oar fiem €ar & 7
(A) disr ®) fem
(C) T @) vgatraq

100 KW power is to be transmitted by each of two separate shaft A is
turning at 250 rpm and B at 300 rpm Which shaft must have greater dia?
(A) A (B) B '
(C) Both have same dia (D) Unpredictable

T AT WIFST FIT 100KW oIfd |aiRa & it & sige A 250
rpm T WGE B 300 rpm ¥ €Y BT €1 W 9 &1 =99 3195 aF—
(A A (B) B

(C) TIFT W = B BRI (D) JFAHE T8 ST ST wddr

1 Ton of refrigeration is equivalent to —
1 9 wiaa s 8 fas avee &
(A) 35 KW (B) 1 KW
(Cy 2.5 KW > 5 KW

What sailts of calcium and magnesium cause temporary hardness of boiler
feed water?

{A) Sulphites (B) |Nitrates

(C) Bicarbonates (D) Chlorides

Pferras IR FNfem & 5= ool & SROT IUER TERYT Se §F arvens
HORAT BT & ?

(A) wTFIEeT B) TER<T

(C) 4qIEsENE (D) TERES

If the Shear force is zero along a section the bending moment at that section
will be

(A) Minimum (B) Maximum

(C) Zero (D) Either maximum or minimum
af& fEl ®ic o FAT TS BT AN W S A W BT W FHEEET @7
H BREF

(A) T ®) R

©) = (D) sE@maH ar ~gFaA
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In impulse turbine, pressure on the two side of the moving blades —

(A) Decreases (B) Increases

(C) Remains same (D) May decrease or remain constant
TR SIS W 96 Bhadl @ QT gredl Y glE—

(A) &9 8 WK 2 B) g SIar &

(C) JeqiI@a IBAT & (D) &9 & o<r & a7 Er Isar 8

A bell Coleman cycle is
(A) Reversed Atkinson cycle (B) Reversed Joule cycle

(C) Reversed Sterling cycle (D) Reversed Carnot cycle
I DA TH B

(A) =obi Welfd-awa am (B) IoHH Tl =h

(C) IorH wfehn == (D) ohd HRAc =W
Shear stress on mutually perpendicutar planes are

(A) Zero (B) Maximum

(C) Equal (D) Minimum

For maximum discharge, ratio of the pressure at the exit and at inlet of the
nozzle (P,/P) is equal to —

Afpae fawskH & fag @y & Frfs iR s=rel| (P,/P) 9R T@ &1
U o sxEw & ?

(A)  [2A(n+1)]erD B) [2/(n+])]>Dm

(©) [2/(n+1)]¥e-D (@) [2/(n+Dj+Din

Curtis turbine is an example of —

(A) ~ Pressure compounded impulse steam turbine

(B) Pressure — Velocity compounded impulse steam turbine
(C) Reaction steam turbine

(D) Velocity compounded impulse steam turbine

»fdd cxasa oo SImEvur & '

(A) <l HOIfSa AT |19 g9 &Br

B) <E—J7T FHIATAI 3T 9™H SIGEA Bl

©) ufafspar w9 eva=a & '

(D) T HAFST ST HIY SIqISA BT

A coil is cut into two halves, the stiffness of cut coils will be

(A) Double (B) Half

(C) Same (D) None of above

TFH Huecll BT &1 §@E /el # O @ omar 81 @ 52 &) Y geiar
a8 SIRE |

(A) g (B) amEh
(C) === (D) S99 | w1 A8
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A device used to increase the temperature of steam without raising its pressure
is called:-
(A) Fusible plug (B) Pre heater
{C) Economizer (D) Super heater
m%maﬁﬂﬁﬁmmmzﬁmﬁ%%ﬁmaﬂmﬁ
et gfda Y = HEr Snar & ?
(A) <Teria T (B) ydarum
(C) Fegatsiy (D) zifa aus

Maximum efficiency for a single stage pure impulse blading (symmetric)
with nozzle angle ‘o’ is

S P o AN THA AT AG" S Wow (wHfha) B faie aife
THTH qeTar &

(A) cos oc (B) cos? o

(C) cos ['02;] (D) cos? [‘}]

A large cylindrical vessel was sealed in summer What is likely to happen
to it in winter?

(A) Nothing (B) Explode

(C) Buckle & Collapse (D) Become lighter
@wwma‘ﬂmmg#ﬁaﬁmrm%:sﬁﬁﬁﬁ@

9 WHIG QI |

(A) ®B & .. B) wem

©) fHEsT (D) 8B&HT BT AQIT
Which of the following is a high pressure boiler?

(A) Lancashire boiler (B) Cochran boiler
(C) Benson boiler (D) All of the above
1 % & P Sz T @ wWig wifts & 7

(A) dTFNTIR AT (B) ®H1HIA IITAR
(©) 71 9 @) SURERT R

Expression for the specific entropy of wet steam is —

A W9 # fafee W B faw wm &

(A) s

L
g+xsf (B) hf"‘X'F

L
(C) Sf * xss (D) St‘ + X?
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57 Weakest section of a diamond riveting is the section which passes through
{A) 15 row
(B) 2™ row
(C) Central row
(D) One rivet hole of the end row
srvve Rfafes ¥ 9sd FAGIR ®ic g8 8nit 8 Sl od) B
(A) wem dfem =
(B) fahy dfm |
(C) &= & dfey 9
(D) U R &1 e o anRed df & &

S8 The specific speed (N,) of a centrifugal pump s given by-
AU Wy A fAfdme R (Ng) A e gRT sag sl § 7

~yo vo

S T O L N
NJo NJo
© 373 N

§9 Impulse Turbine is generally fitted —
(A) About 2.5 meters below the trial race
(B) Slightly below the tail race
(C) Little above the tail race
(D) At the level of the tail race
Ay exerse, ARG Gel g oIn 8§ 7
(A) faEsti & e 26 Wex = *3:7'55
(B) frEsF ¥ et A \!
(C) fRusk 4 g W
(D) fauef & W u”

60 Solid and liquid have
(A) One value of specific heat
(B) Two value of specific heat
(C) Three value of specific heat
(D) No value of specific heat
or ™Al w9 garl @ fRAffre sl

(A) U©&H & B 8 (B) @I 8N &
(C) 94 8rlt & (D) =& 8RN &8
EJE-2015 / WI_A ] 33
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The degree of reaction of a Kaplan turbine is:-
(A) Equalto 1l
(B) Equal to 180

©) Greater than zero but less than %

(D) Greater than }é but less than 1

D SNasa @ IARBar FH oTET B
(A) 1 & sQE%
{B) 180 & <@

©) Wﬁm%}é‘@faﬁl
(D) 1@@%%%&%

Pick up the wrong statement about centrifugal pump
(A) Head is proportional to speed?

(B) Power is proportional to speed?

(€) Head is proportional to Diameter?

(D) Discharge is proportional to Diameter

BT T D IR A TS PYA HIoET E ?
(A) e, Ifa?2 @51 wHEguRn &

(By =R, A2 &7 e B

(C) e, =2 &1 gArEguEh &

D) fausH, =/ &1 |SHguEy 8

Internal Energy is a function of only

(A) Pressure (B) Temperature (absolute)
(C) Volume (D) Pressure & Temperature
(A) TE I (B) <gHEE BT

(C) Imaaa =7 D) =& TST araEE BT

For a fluid at rest:-

(A) The shear stress is zero only on the horizontal plane

{(B) The shear stress is zero

(C) The shear stress in maximum on a place inclined at 45° to the horizontal
(D) The shear stress depends upon the co-efficient of viscosity

aa e 89 g or 8T & 7

(A) Jgvgvr uftread, dHaa @ifost a8 o) g 8/ &

(B) 3gvyul ufdast, T=a 81 B

(C) 3gsguT yfaad, ARG |/ 45° & I u¥ 3Mfpan 87 &)
(D) 3argsaer gftad, Ta=ar Pone av R g2iar &
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65 In a static fluid:-

(A) Fluid pressure is zero

(B) Linear deformation is small

(C) Resistance to shear stress is smali

(D) Only normal siresses can exist

Wity dvel #H-

(A) TR T I BT B

B) Wy f@vurr 5 @ ¥

(C) 3roogur wfaga &1 w9 gar §)

(D) dad FHEFG WidEgd 99 | HWhd B

66 1 m’ of air at pressure at 10 kg/cm? is allowed to expand freely to a volume
to 10 m* The work done will be

1 m? g Sasr = 10kg/cm? &1 a1g 1 Fag v0 @ e femr s
£ S 9% SHPT AWAA 98 I 10md € wiEn § frmn a e &e
(A) Zero /T : (B) + ve
(C) - ve (D) 10°Kg m
67 Gauge pressure is equal to
(A) Absolute pressure + atmospheric pressure
(B) Absolute pressure — atmospheric pressure
(C) Atmospheric pressure — absolute pressure
(D) None of these
TS T BT B— ,
(A) T T -+ qIgESoNd T & SXIER
(B) Jom g — digHsoNd S @ SXIER
(C) wgHsSca /@ — TR g™ @ e
(D) T8 A P T8
68 In reaction turbine:-
(A) Total energy of fluid is converted to kinetic energy in the runner

(B) Kinetic energy is appreciable as the fluid leaves the runner and enters
the draft tube

(C) The vanes are partly filled

(D) I is exposed to the atmosphere

ufafssar cvxaisa -

(A)Wﬁmﬂzﬁwﬁgﬁmﬁmwﬁqﬁaﬁﬂs‘rmﬁ%

(B) mmwﬁm%mwmﬁ@mméﬁam
ot w1 Bl B

(C) 9 ¥ B9 A W B B

(D) a8 agHvsd HT Igfda grar Fi
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According to Clausis statement

(A) Heat flows from hot substance to cold substance

(B) Heat flows from hot substance to cold substance unaided

(C) Heat flows from cold substance to hot substance with aid of external
work .

(b B & C above

FiR @ FAFHR— _

(A) ST T ygref ¥ ouvs yaEl @ atR asd 8

(B) 9T fqA7 9w & @ i garl @ ovl uyani @ aiw gsdy &

€€) =0 FEg B S FERRT D U} garf ¥ W gerl 9 A

g8t &
(D) SWReT B & C

Kinematic viscosity is equal to:

(A) Dynamic viscosity x density

(B) Dynamic viscosity / density

(C) Density / dynamic viscosity

(D) Nome of these '

gefas warrar 8t #—

(A) Y1 TOFar -~ o9eg B SxIEw

(B) Aftd WFAT / UdcE @& «9I0E

(©) w9@ / Tifos wTHIEAT @B SRER

(D) T8 A wEd T8 2o

The relation between the number of links (L) & number of pair (P) is:-
W(L)a%msﬁ?g“ﬁ(maﬁﬁwa%éﬁmwg?
(A) L =2 P-3 B) L=2PpP-2

(C) L=2P-4 D) L=3_-2p

The temperature of interior surface of cylinder wall of 1.C. Engine is normally

[

‘not allowed to exceed

(A) 80° C , B) 120°C
(C) 180° C (D) 240° C

Inversion of a mechanism is —

(A) Changing of a higher pair to lower pair

(B) Tuming it upside down

(C) Obtained by reversing the input & output motion

(D) None of the above - : :

fpel d=maeh @1 gepwor —

(A)y T=RR Yirer B Freeay gores % seon a/n ¥

(B) SV TEAT AT BT F) -

(©) e e forfa wfa &1 Sopaor Se ura fFar omar &)
(D) SBUAFRT A BIE T8 |
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A simple mechanism has:

(A) 1 link ; @3B) 2 links
(C) 3 links (D) 4 links
Th O dFigel H B B e
(A) 1 &S B) 2 Hfsdf
{C) 3 Bt - D) 4 =HfeAr

Efficiency of IC engine is normally of the order of
IC S99 &1 AT ST 8RRl 88—

(A) 15-20 % _ B) 20-25%

{(C) 25-30% ' D) 30-35%

The purpose of flywheel in an IC engine is —

(A) To regulate the fuel supply

(B) To increase the power capacn.y of the engme

(C) To reduce the vibration in the engine
(D) None of the above

wmﬁmﬁmwmwmzﬁm%?
(A) Tom ot o1 faftafia a==

(B) 3IoF &5 wfaa &wHar &Y d9gr

(C) SS9 H HYA BHH DAl

(D) SUEI A PIE AB!

The maximum & minimum speeds of a flywheel during a cycle are N; & N,
rpm respectively. The goefficient of steadiness of the flywheel is —
i Wb @ U (Wp H ffieean aunm gmes wfial Eer Ny R

N, rpm §| dg99N, 7 F® o Rerar — qoie feaar Err—
Nl—N2 N1+N2
(A) 2(N1—N2) (B) 2(NI——N2)
2(N1+N2) ' N, + N,
c s Mk 3
©) N, - N, D) N, - N,

Cetane number of petrol is around

I I i AT B8R g

(A) 10 B) 20-15
(C) 20-25 D) 55-70

Tension in the tight side of a belt drive is 100 N & that in the slack side is
60 N If the belt breadth is 10 cm & thickness 4 cmWhat is the maximum
stress induced in the belt?

Th Uccl A" @ e ued #H a9 100 N & 3R g8 e umd 4
60 N & afe gg2 &5 9isE 10cm & 3R AE 4cm 81 dr gse # uRa
afSpan uftes o= 8P —

(A) 2.5 N/em? (B) 1.5 N/cm?

(C) 4 N/em? (D) 2 N/em?
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80 For a flat open belt drive the belt speed is 880 m/min & the power transmitted
is 22.5 KW. What is the difference between the tight side & slack side
tensions of the belt drive?

e wure W — gger wem # ued o wie sso ¥ ok A€ wifa
22,5€|@W$W(m)qwéawﬁrfémqwﬁa=na‘rﬁw

IR BRM?
(A) 9000 N (B) 6450 N
(C) 1540 N (D) 1000 N

81 Governer is used in automeobile to:
(A) Decrease the variation of speed
(B) Control / Ot
(C) Control §N -
(D) All of the abave
JfSHEIsS W TTaER BT udnT fhur wirar 8—
A T A aRadT &7 B9 T P forg
B) SN /& T FfEa s & e
©) &N = P o= @ fom

@®) SYdaa N

82  Which one of the following is a _gravity controlled type governor?
(A) Hartnell governer . (B) Hartung governer
(C) Watr governer - {D) Pickering governer
Freafafea & 9 SF— qoe A ger o1 Tl 8 2
(A) BREAE TaR B) s TadE
(C) Te TaR (D) xR 1w

83 Increase in pressure
(A) Lowers the boiling point of a liquid
(B) Raise the boiling point of a liquid
(C) Reduces its volume
(I3} Does not effect the boiling point of a liquid
EIEBE i |
(A) g &1 aFRTTE IR sar &)
(B) <=9 FT FRiF wg iar &)
) = ue onar 89
(D) [UAPH G HIF WA T FHE 9Sdqr|
84 Hartnell governer could be classified under the head of :
(A) Inertia type governer (B) Pendulum type governer

(C) Dead weight type governer (D) None of the above
IS AR @1 aiffmwer fhw o @ sioefa fear o owwar & 2

(A) ST UBR & TTF49Y B) AP PR B TIFHAY
(©) fege R gosrR @& TR (D) SoEa d BIE T8
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When the speed of governer increases then:
(A) Height of governer & radius of rotation increases
(B) Height of governer & radius of rotation decreases
(C) Height of governer decreases but radius of rotation increases
(D) Height of governer increases but radius of rotation decreases
i sfSffEaae & fa sed & a9
(A) g @1 S iR gl &) Bogr seh 2
(B) 3fSfSaaes o7 Sag iR o @7 Boar gedh @
(C) IaHEzE =5 Suad g 8 g go= &Y Boar sodhi &
(D) sfEfFEIe & Fad g & g goi= & B ssd &

Which of the following boiler is water tube boiler?

(A) Locomotive boiler (B) Cochron boiler

(C) Cornish boiler {D) Bab cock & Wilcox boiler
o & & 3w wr dfaer e A §fgeR Brm &

(A) aemfea daax (B) PrERFE e

(C) =R dfaax (D) IhTH Ud Qeasnis e
Which of the following gear system have minimum axial thrust?
(A) Bevel gears (B) Helical gears

(C) Double helical gears (D) Spur gears

1 & e fraw — gorelt d sl uohie gaas sar & °
(A) a9 [Ffra= B) gpvsfara R

(C) fEmvsfea ffrax (D) w|wr ffrx

In a gear drive module is equal to:

i i

(A) Diametral pitch ®) Circular pitch
Circular pitch Diametral pitch
©) J1 (D) 1

vep R g #d disge s @Y 8idr 8 ?
1 1

A o s - B T s
g =T =T ST
> N7 o JI

Thermal efficiency of thermal power plant is of the order of
T o9 wufek w@aa @ S gerar 8)kit & (Sn)

(A) 15% B) 20%

(C) 30% (D) 45%
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Lewis equation in spur gear design is applied to:
(A) Gear
(B) Stronger of pinion or gear
(C) Weaker of the pinion or gear

(D). Pinion
R R e § afw wfieww o1 g ss8t dar 8
(A) firg=

(B) Mfma a1 firar 3, o @ soga =
(C) fAfFas g7 fax 3 &1 N sasr &8

(D) fafsas

Rivets are made of -

(A) - Brittle material (B) Ductile material

(C) Soft material (D) None of the above

Raec s9 uagrl & 9@ o9 &

(A) "R uygei (B) =0 ugwf

(C) ¥Hg ggrl (D) TUqaad H 1 aid v

Economizer in boiler

(A) Increases steam pressure

(B) Increases steam flow

(C) Decreases fuel consumption

(D) Decreases steam pressure

ISR A SHIHHIGER

(A) 9QRNT 8 W9 & T BT

(B) HIY & ydqig @1 €@ P e

(C) =1 B8 wd w3 oo

(D) WU & €™ "sers & faw

The shear strength, tensile strength & compressive strength of a rivet joint
are 100 N, 120 N & 150 N respectively If strength of unriveted plate is 200
N. the efficiency of rivet joint is:

TF Rae Sirs @ gsqur gmexd, a9 wimyeai  der S el @
100N, 120N @21 150N & gggar afy fan Rae &1 e 1 amesd 200N
2 a1 Rac oile & eaar fsasr &nfi »

(A) 60 % _ B) 75 %
(C) B8O % (D) 50 %

Normally cam moves with-

(A) Constant velocity (B) Variable acccleration
(C) Variable velocity (D) None of these
HEIRUIGAT BH g9Har 8—

(A) = ofa & B) ufRadfam wer a9
) afy (D) S99 O #B1E T
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In the impulse turbine, the steam expands
{A) In the nozzle

(B) In the blades

(C)Y Pardy in nozzle and partly in blades
(D) Neither in nozzle nor in blades
AP ev™gd ¥ 99 hedl &

(A) Tord i

(By «d= #H

(C) 3R Jioia # aur el <=is #§

(D) 9 49T 9 &18 ¥

1 he contact between cam & follower is to form a:

(A) lower pair (B) Higher pair
(C) Sliding pair (D) Rolling pair
®H AT FE @ da wwd | o@T g ar § °
(A) =R e (B) V=R A
(C) WU T (D) et A

The pitch point on a cam exists on-

{A) Any point on pitch curve

(B) Point on cam pitch curve at whxch pressure angle is minimum
{C) Pomt on cam pitch curve at which pressure angle is maximum
(D) Any point on pitch circle

9 e fa f3g =s@ar &

(g B oaw R o W feeg

(B) wH fQua g o g8 fag 19 93 [JYAaH T B0 &1 B
(Cy @7 fag g wY g8 fag 9 o affead g9 @ 8]m €4
(D) 19" g gv g Wl [y

The tuncuon of condenser in thermal power plant is

(AY 1o act as reservoir to receive steam for turbine

(B) To condense steam inmto condensate to be reused again
(') To create vacuum

(12) Al the above

e wfFa Gam 7 ogefay wd e #

(A) GF @78 @) T ! YS9 @ Wi UHHa HRar 8|

(By 19 ®mi @ueH9 & o e a8 s R SanT § @E W1 9
(Cy MHge S9@=1 oA & fog

(D) =9 T IPN

Using lubricants on engine parts is an example of reducing-

(A} Nlotion (B) Force

{(C) Acceleration (D) Friction

Fold @ YW 7 i8S UIRT HAT B AIGt BT B B BT I 87
(AN =ifa (B 9

(Cy &Ry (D) =iy
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100 In thrust bearing, the load acts
{A) Along the axis of rotation
{(B) Parallel to the axis of rotation
(C) Perpendicular to the axis of rotation
(D) In any direction
eve f@af¥r (thrust bearing) § WR @ f&ur (direction of load) B8R &—
(A) YA 3& & IIGIH  (along)
(B) Y®ia 3\ & WATAR (parallel)
(C) YHET 38 & ov=ad (perpendicular)

(D) *E N f&EEn

101 Volumetric efficiency of air compressor is
(A) The ratio of stroke volume to clearance volume
(B) The ratio of air actually delivered to the amount of piston displacement
(C) Reciprocal of compression ratio
(D) Index of compressor performance
g Hils® & argaties cerar 8.l 8
(A) 1P IAT YT IR BT I=IE
B) fHfavsz # ggor A o a1y &1 aRafa® ITTaT O SarsH @ ToIP

©) vﬂﬁ@aqu’mﬁqaﬁq
D) w9=T & A BT gABD

102 The life of bearing is expressed in:-
{A) Lac of revolution (B) Billions of revolution
(C) Thousands of revolution (D) None of the above
feafRs &1 STa9 (bearing life) W= wef¥fg o <mrar & -
(A) 9Rsm & oTg & (B) 9Rever & 3vg 4
(C) a1 & 8ok A (D) IO=IFKT 9 B8 =851

103 A particle acted upon by two forces is in equilibrium. Then, the angle between
the two forces is equal to:
H g wv B SR v =7 ;9 wewRr ¥ € €F 96 5 @ @

DIV BT HE BRT
(A) O° (B) 45°
(C) 90° (D) 180°

104 Centrifugal compressor works on the principle of
(A) Conversion of pressure energy into KE
(B) Conversion of kinetic energy into pressure
{(C) Centripetal action
(D) Generating pressure directly
JUH= Hitsw Hd wmXar & fra fagra ow?

(A) <@ Sl =1 Tfow S A aRaftfa owar &
(B) nﬁmm‘iaﬁmm’iﬁqﬁaﬁam%l
(C) s -

(D) 9N g9 I Bl &1
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The law of parallelogram of forces gives the resultant of —
(A) Parallel forces (B) Two coplanar concurrent forces
(C) Like parallel forces (D) Non Coplanar concurrent forces
T # GEHEEAGR s $ a0 9l § 9@ &1 59 sa Barn
ST B ) :
(A) FHAFT=R & &7 (B) TY OHaONI SR g &I
(C©) wHfes W=k el 1 (D) wHdehd el a1l &1

The acceleration of a body is expressed by:-
faos =1 w@zer uefRra fFar s 8

av s
Ay - (B) y
dv .
(<) Vd_: (D) All of the above / SFad WIH

The volumetric efficiency of compressor with increase in compressor ratio
i o & 7.

(A) Increase {B) Decrease

{(C) Remain same (D) None of above
Hired IUra 989 9 HUISe @l i &l
(A) o & (B) TcE 8

(C) wHHE I&0 B (D) ST | o "8t

The velocity of the object on earth when it is released from height ‘h’.
h o ¥ gefl ¥ fza g7 s &1 a7 Sar &

(A) V=2gh? ® V=\2gh

1 2

T 2g

The direction of frictional force acting on a body which can slide on a fixed
surface is :

{A) 1In the direction of motion

(B) Nommal to the direction of motion

(C) Unpredictable

(D) Opposite to the direction of motion

T fis ur o @< 8 gdvhl s I ey T & a1 Rer was R w/dor
TR HHAl & ?

(A) TIfa a5 fesr

B) Iy H RBE & ==

(C) IFHAT AS] Sl Sf Hoan

D) it & R 3 R_Reda
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Efficiency of gas turbine is increased by

(A) Reheating (B) Intercooling
(C) Adding a regenerator (D) All the above
T cvag= 9 =T |{gdr &&=

(A) TTENE NI B) TgHTE g
(C) o ReX Ie™m A D) = | W

A body is moving in a circular path with radius ‘r’ The relation between
its linear velocity ‘v’ & angular velocity "¢’ -

tF favs @ goomr o (Browr r) 9w O wer &1 Sue WaEm 9
‘Vod BN T vy W e B & -

(A) v=rm? (B) v= w/r

€) v=r/'m {D) None of the above / IWRIGd & HIF 8t

The value of frictional force is:-
(A) More than external force (B) Equal to the external force
(C) Less than the external force (D) None of these

9997 §6 &1 HIA BT 8

(A) TE9 &9 9 afSs (B) ¥=0 9 9 a¥Ex
(C) 9" s & 9 (D) s | ;g =T
Unit of thermal conductivity in 81 unit is

FHE WASGAT YoTis & SI A =R E—

(A) J/mZ3sec (B) ¥Vm°K sec

(C) w/m°K (D) b & ¢ above / IUITET
The frictional force between objects that are stationary is called:
(A) Rolling friction . (B) Kinetic friction

(C) Dynamic friction (D) None of these

R gl @ €9 udur BY e esr oar & 7

(A) doo YT B) faw udor

(C) wugt fas) edor D) SR | HrE T8
The ratio of ultimate stress & working stress is called —

(A) Factor of safety ' - (B) Modulus of elasticity
(C) Poisson’s ratio (D) None of the above

3~ yft"s (ultimate stress) 7o BB Ufds@ (working stress) &
3GUTd &7 HEg 5 —

(A) g=- TONIEH (factor of safety)

(B) UIAr U@ (modulur: of elasticity)

(C) TUIESE Ui (poission’s ratio)

(D) ST § I P 98

EJE-2018 / 11_A ] A4 ) {P.T.O.




i16

117

118

119

120

121

qiF naftn / MECHANICAL ENGINEERING
The vapour compression refrigerator employs the following cycle

(A) Rankine (B) Camot

(C) Reversed Carnot (D) Brayton

arg gead E@dted T e wshH g1 a@erar #§ °?

(A) Ha usHA (B) &RATE HhH

(C) fafa Rae usA (D) IS wusHH

Which of the following is a dimensionless quantity—

(A) Stress (B) Strain '

(C) Pressure (D) Shear modulus
fFrafafea 3 @ $9 @ o A fEa o 2—

(A) wfaas B) fagfa .

(C) <9¥ (D) 3JUBUUT HAISH
Hooke’s law holds good upto:

(A) Yield point (B) Limit of proportionality
(C) Breaking point (D) Elastic limit

&b BT rgw @np 8em 8 — B ;

(A) T=ma fag @ (B) HHEWIRIBGT & WA a5
(C) fame g o (D) wearer HEr ad

The condenser and evaporator tubes in a Freon refrigeration plant are made
of

(A) Steel (B) Copper

(C) Brass .- +€D) Aluminium
mﬁawmaﬁﬂ%ﬁnﬁarﬁmﬁaamﬁ%amﬁcﬁwq
RS LS 1 =S

(A) sTE | - (B) oW

(©) dYias ™) rgHfAauH

The bending moment on a section is maximum where shearing force is —
(A) Minimum (B) Maximum

(C) Zero (D) Changing sign

ﬁﬁﬁqﬁ%@awwm@wwﬁmwméﬁwm
BT B—

(A) ~gaH - B)
©) T[= D) qﬁqﬁ e

A simply supported beam caries a uniformly distributed load of W kg f per
unit length over the whole span (1). The shear force at the centre is:

TFH HHFIT el gus & wRifAw THa faaRor W kg £ Ul gms
o, 9Ee weT WF () @ R ¥ aggER 9§ P UR AUBIUT
g fasm &rm ?

wi | L}
oW
(C) =zero/ ¥ (D) -
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122 Unit of viscosity is
TFRT YOnias @ SI A B &
(A) m2/sec (B) kg sec/m?
(C) N sec/m? (D) NsZ/m

123 Two simply supported beam A & B has the same length ‘L’ & subjected to

equal bending moment M. The stress induced in the beam A & B are o 4
& © g respectively. If the cross-section of beam A is b X b/2 & that of beam

B is b/2 X b, then correct relation between G , & o is:

TF ggIoivead gUs AT B USEHA oias L & & 3R S9%T o= et
M A Th T &) 98 A AT TS B H HHIT o 5 dAT o, Widesd kg
&| aqgar afd Tus A &7 3guw 4R=BT b = b/2 3R B HTb/2 x b =Y,
dl G, 91 op @ 4| FT WA TN F BRI ?

(A) O-A F— 2()'8 (B) 6‘4 = 403
Cg
(C) 6‘4 == -—4—-— (D) ’G_—_} = GB

124 A composite bar is made of steel & Aluminium strips each having 3 cmZarea
of cross — section. The composite bar.is subjected to an axial load of 12000
N. If Ej ) =3 > E,;, the stress in steel is —
(A) 10 N/mm?2 (B) 20 N/mm?
(C) 30 N/mm? (D) None of the above
TH HEF PIE diell Bs ol SR a9 tgfafaaa @1 uedidt &
g forad U & IIgueT FIT BT aFhd 37 M2 ¥ | Gy e ah v
9¥ 12000N @1 &I AR o AT SRT 81 3R E _  ~3E,, 8 of 9

A wfasa 8rm-
(A) 10 N/mm? (B) 20 N/mm?
(C) 30 N/mm?2 (D) TURaTd § @IS A8
125 The frictional resistance of a pipe varies approximately as
(A) Velocity of flow B) v?
© @ V2
P yizg # 989 gl €9 9% A gieT 9¥er yfaReEr &1 "E AR @Rar
&
(A) &9 & gas T U @) @m)?
© S @Em (D) @2
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1 When two capacitors are connected in series, there total value of capacitance-
(A) Rermains same (B) Reduces
(C) Increases (D) None of these
g @7 Hufdex Igw F SO mH # T Wi 8 dr SHdl AR
(A) f[Haa < & B) wHcar 8
(C) wedar & D) T q HE T8
2 In an electro dynamometer type Watt meter if the voltage and current measured

are given by 9 = 100sin314s and 7 =10sin (3 14z — 60°) respectively,

the reading (in watts) will be

Td Iogel SRR gedley # dicew Ud ORT AL e 2

® =100sin314s T 7 = 105in(3l4t—-60°) FHd Hex B/ ARET (s

) 7= 8l ?
(A) 1000 (B) 500 (C) 250 (D) 433

3 In a series R-L circuit with supply voltage of 5V, the voltage across the
resistance ‘R’ is 3V. The voltage across ‘L’ will be

s S0l R-L ulRaer & g (WeE) dicedr SV 28 3R 'R’ @1 deedr
3V 8 df L’ & IR urR fHan daeear s ?

(A) 2V (B) OV
) 5V (D) 4V
4 The domestic electric supply is what value of A.C. supply
(A) Average value (B) Mean value
(C) RMS value ' (D) DC value
TR A ugaa 8F drentr fAga T s AC &1 P ’r A B8Rk ' °?
(A) Tas =5+ M) #H= =HA
(C) IIR.TATH #HHA (D) & AFH
5 In the measurement of 3 phase power by two watt meter method, for an

unbalanced load, the power factor of the load is
rpen wfd A= @1 @1 @i Aiek fafy ¥, agfea aR &g W @1
wfdg—poes =1 8rm ?

(A) <cos|tan™! {Jg—-—-—(wz _ ""‘)} (B) oS tat!-_l{—;‘y2 ——W’l}

W, + W, W, + W,

(C) cos (W2 - PVl) (D) None of the above

H ¥ HiE W FE
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6 The doping material for an N;type semiconductor is
(A) Pentavalent (B) Tetravalent
(C) Trivalent (D) Bivalent
TH N-—UBR & Icfads & &, "5ed gy 2 7
(A) YT HIOWTH (B) o wHI®
(C) Huarss (D) feadarsis

7 Damping torque is essential to

(A) Increase oscillation

(B) Reduce oscillation

(C) Maintain Oscillations unchanged
(D) None of these

g e weaget & wwifs as
(A) 3iiflergs sgrar 2

(B) J3fWoras & Hear &

(C) 3o smfRafda ww=ar &
(D) g8 9§ &g 8

8 In which of the following instruments, a disc is present?
{A) Ammeter (B) Voltmeter
(C) Wattmeter (D) Energy meter
P d f w Sumeer 3w v 8 27
(A) THIeR (B) dieTiier
(C) arcHIcR (D) sHGINSY  (GuirAm)
9 Two coils have self-inductances L; and L, henry respectively. If the two

coils are connected in series and the Mutual inductance between then is M
henry, the value of maximum resultant inductance of the combination will

be

@ prsferlt @ wAvERT wEYt L, v L, 399 #| S Sioh ¥ o
Td SO¢ w0 URWERe UReba M B9 8 9Y 9oy ONeeT T
I " ?

(A) L;+L,+M (B) L,+L,+2M

(C) L,+L,-M (D) L,;+L,-2M

10 Stepping up of voltage dur{ng transmission is done to-
(A) Increase efficient power transfer
(B) Maximum power transfer
(C) To reduce Transmission losses
(D) To reduce voltage losses

SR & 7= dieest o €9 39 AT ST 8 7
(A) WFI¥I=< dfar giRer Iem @ forg

(B) #Afawsw dige givwy @ fam

(C) gafer &g o8 o= & 3o

(D) a1 i a HIA B fore
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11 The meter constant of a single phase energy meter is 500 rev/kwh The meter
takes 86 seconds to make 50 revolutions while measuring a full load of 4.4
kilowatt. The percentage error in the meter is

ws gEANNTY &7 fRerie 500 aw / femare Her 81 44 fraae & gol
TR UR HeY g6 G@vs # 50 HaHR ST 8| wWiew @ ufdea g &eie
(A) -2.43% (B) 2.43%
(C) -4.86% (D) 4.86%

12  What is that property of a coil called under which if there is a change in the

current flowing through it, a voltage gets induced in the coil itself as well
as the neighboring circuit?

(A) Resistivity (B) Inductance

(C) Charging (D) None of the above
ﬁﬂ%@ﬂ@:&ftiﬁﬂtgﬂlaﬁaﬁlﬁﬁ%meﬂﬁmwﬁ
aftads 2R UR S woed dr oue wHuRl |f¥e d uRa faga awEe
¥ IO B Wi 8 7

(A) wfaREr (B) U¥dhcd

(C) =artsin (D) T 9 o1 A8l

13 Synchronous speed equation is

120f 1207
f\" — = ,M\’ =
(A) & P (B) 7
Pr . 120
§ = e—— N y =
(C) Ns o0 (D) s I3

14 A DC series motor is best suited for
(A) High starting torque requirements
(B) Low siarting torque requirements
(C) Constant speed
(D) High speed
vp S sigen (W) Ay et |ugw B 7
(A) wea wefye e H#in wg (B) FE yRBEE e AT B
©) Rerx ufa =g (D) <=a wfa Bq
15 Three currents i, , i, and i; meet at a node. If ;=10 sin(400t+60”)A and
i,=10sin(400t-60%)A then iz= s -
&= GW iy, i, T i, B s oX @ A O AR i,=10sin (400t+60)A
wd i,=10sin(400t-60MNA B o1 i, W "W B8P (TR H)

(A) O | (B) 10sin400t A
(C) -10sind00t A - D) -5.J3 sin 400t
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Which of them is peak load station?
(A) Small capacity thermal plants
(B) Diesel stations
(C) Run off river plant
(D) All of them
s W 0 e wRIH PE 8 ?
(A) &9 &AdT & oA wiice (B) Sioie @9
(C) A 3P Aax wiie , (D) Swad W

In which type of frequency meter, the frequency is found when the torque
in the moving coil becomes zero? :
(A) Vibrating reed type :

(B) Permanent Magnet moving Coil type

(C) Moving iron

(D) Electrical resonance type
ﬁmﬁ@%ﬂmﬁwﬁmmwmww H gareet
D YR OB TN Ox fur onar € 2

(A) TFOaIHFRI I3 wHal B) W gEHT Te Hose ISUTH
(C) =T &E gudr (D) YT IFgares geWm

Which three phase system-does not contain neutral?

(A) Star

(B) Delta

(C) Both do not contain (star and Delta)

(D) Both (star and Delta) contain

fra Pesh Rvew 8§ ga= (IEa) 98 8ar ?
{(A) R

B) ST

(C) <1 5§ T8 8T (R 3R e

(D) == F B & ('R 3R I=)

A synchronous motor is

(A) Self starting p (B) Non self-starting
(C) Sometimes self-starting (D) None of them

Uk o= H"ew

(A) Iz TeifidT 8f &

(B) S I wifdht 8t &
(C) M ¥ VAoPp =ciidT 87 2
D) T8 |q dig =98t

In an attraction type moving Iron instrument, the damping torque is usually

provided by
(A) Air friction damping (B) Eddy current damping
(C) Fluid friction damping’ (D) Capacitive damping

Waaaﬁg"(muw)mﬁmaﬁquﬁquﬁm

(A) 9y Od¥9 sEgEaT . (B) WY uRT rFHITT
(C) TS =¥oT 3Iradad (D) wafR= IaHeE"
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Which of the following motors has no winding on its rotor?

(A) Single phase Induction (B) DC shunt

(C) Hysteresis * (D) Universal

frm i fpw "Wexr @ e H PIE s TdE BT P

(A) U&H Hol YT (B) S I < )
(C) TERRfEw D) S

Magnetic cores are made up of thin lightly insulated lamination to reduce-
(A) Power factor (B) Hysteresis loss

(C) Load loss (D) Eddy current loss

Ffer R 9 oF orde swuoes dfteEE @ 8N @ foew & e
BT 7 HH &7

(A) diary Haex B) RBReREE ae

(C) <rs &t (D) TH TR=< w

Swamp resistance and condenser are used
(A) To reduce the error while measuring DC quantities in a moving iron

instrument -
(B) To reduce the error while measuring AC quantities in a moving iron
mstrument :
(C) To reduce the error while measuring DC quantities in a moving coil
instrument '

(D) None of the above '

Wy ufadsr gd |eniR=s &1 9dnT

(A)Waﬁmﬁaﬁﬁwwgﬁaﬂaﬁaﬂﬁﬁﬁmmm%

(B) o« e S9EaE @ wad a3t B oeu Fe @ e
Sl 8

©) wmmaﬁmwgﬁmma%ﬁwmm%

(D) ST | B TEH

Rheostatic braking cannot be used in which of the following motors?

(A) Synchronous (B) Induction

(C) DC (D) None of the above
Rafreeifes afBil o7 gan e 8§ A fea "@ex # =8 81 "oar
(A) TqTOBIeID B) URUT

(C) < (D) s | ®mE 981

- A transformer works on the principle of -

(A) Self inductio (B) Mutual induction

(C) Relative mdvj:non - (D) Comparative induction
v givepriR e d @ e Rera ) SR SR 87
(A) FTF TTSRHE B) TR FTSIA

©) Rafea srsa= ») FRfET sSs®WH
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Fqllowing is not an advantage of a Permanent magnet moving coil instrument
(A) It has a uniform scale :
(B) It can be used without error for @ long period of time
(C) It has good damping torque
(D) Its range can be easily extended '
w@wwﬁwwmﬁﬁwﬁﬁaﬂawm

- (wraE) 9E€ fYerar @

(A) TEHT 9T wHH9 Sk 2
(B)mmwﬁﬂrgﬁmmwmmwwa?
(C) =T Iaa<=a samel =t =597 2
m)mwmméﬁwﬁa—mwwg

A three phase Tnduction motor always

(A) Works at lagging power factor

(B) Works at leading power factor

(C) Works at maximum (i.e. unity) power factor

(D) The power factor keeps changing with the load
B

Tr S grur dSrew :

(A) ¥R wifay TquTes 9 I wmedl B

B) IWEN A guies 9¥ BT ewdn 2

(©) JIDman (1) ofda o ox & ey 2
m)%wqﬁamm%mww%

In DC machines the value of A equals to 2

(A) For Lab winding (B) For wave winding
(C) For Field winding (D) For Armature winding
S "9 F A T = 2 srer 2

(A) Ju aEfET =g (B) g arEf¥n &g

(C©) ics.aEfEST =g (D) 3FER aEfET B8y

The internal resistance of a voltmeter is 20,000 ohms. If this voltmeter is
connected in series with a resistance and a 220 voh supply is connected
across the combination, the voltmeter reads 200 volts. The value of the

resistance is

waﬁaﬁawaﬁaﬁﬁmzamomﬁluﬁ%wm
wﬁﬁ‘mzﬁwmsﬁwwzzoaﬁo‘daﬁwwﬁnﬁw
200 dree-Ygar Ry aysma ufRer &T " & P
(A) 200 Q (B) 4000
(C) 2000 Q (D) 20,000 Q
The supplier shall provide and maintain for the consumer’s use a suitable

earthed terminal in an accessible position at or near the point of
commencement of supply. Which IE rule states that?
Wﬁwﬁﬁﬁmmaﬁwﬁgﬁmww
WS S IR SEBT JGET W S as &= o9 IE Pan 2 2
(A) 1IE 33 B) IE 61}

(C) IE 67 (D) IE 88

[P.T.O.
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A series motor must never be allowed to run at

(A) No load (B) Full load

(C) Half load (D) None of them
@%Waﬁaﬁrﬁrﬁm#ﬁ%wﬁmaﬁq?

(A) 1 ars - ®) @ oS

(C) B% S (D) T7H | PIg A8t

In a thermal power plant, feed water hedters, super heaters and air preheaters
are mainly used to

(A) Have a better dust removal in the plant
(B) Have a better Ash removal in the plant
(C) Increase the efficiency of the plant

(D) None of the above

amg wufey "I H Rl Wi 919, aﬁwq&mwaﬁrm
forar ST B wEmaar

(A) Wﬁagmqaﬁwm%g

B) wa= A Jsaw T P Bg

(C) o=y & <qeraT IFF 89

D) T § IR A€

Which among the following s not an electric braking method.for a motor?

(A) Rbheostatic ‘ (B) Regenerative
(C) Hydraulic (D)  Plugging
o & | = |/ OHIRR fagg afeT o1 adwr 98 § 7
(A) deiefes (B) Yo '
(C) w=dm= (D) T
The characteristic impedance of a loss less line in called.
(A) Leakage impedance - (B) Peak impedance
(C) . Small impedance (D) Surge impedance _
e Bf Rd w@Ea » daeRRcs IS B PE % ?
(A) <tow NS\ (B) YW I
(C) T s (D) o gFS=d |
For ‘what value of R;, (in ohms), it receives maximum_poﬁgcf?
3, e N

T ]

= Zea  ETN
|

L

BaﬁﬁuaﬁRLa%ﬁT\qrnﬁwamaﬂwws‘hﬂ?
(A) 5 Q (B) 6 Q
< 4 Q ™ 79
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High voltage cables which are used for 132KV for these core’s are
(A) Oil filled cable s (B) S.L cable
(C) Gas pressure cable (D) Belted cable
memmmﬁwzwimﬁmmﬁ
gl Bfas B A & ?
(A) 99 gRa =«faa (B) SL Qe
(C) N¥Na T e (D) ufeea s

Arc voltage is given by equation
NP AT BT A s 2 -

B
(A) eo-—-A-l-? (B) eo=A+-BJ;

© ‘= MDY CogD E 5

The c|.|rrent through a 2 ) resister will be

4«

20

a4y —— %‘A

ST RE § 20 e ¥ e=9 areh g =6ft 7

(A) 2A | @) 3A
(C) Cannot be determined D) S5A
8 fAeTenr S wear

Through which source is maximum electricity generated in the world?

(A) Water (B) Nuclear power

(C) Coal (D) Solar power
Wﬁﬂﬁwﬁmﬂ}%wﬁ%wﬁﬁaﬁmﬁ%?
(A) 9T (B) a3 '

(C) rIeT (D)

If 5, 10 & 15 ohms resistance are connected in parallel, the combined
resistance is ohms.

ul%s,roaﬂ?waﬁwaB'mWﬁqé%aima

uferrer Lo 3\ 8B
(A) 15 (B) 10
<) s (D) 2.73
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The mechanical test is done on which type aof insulator?

(A) Shackle type . (B) Pin type

(C) Strain type (D) Suspension type

it udetor Y 9 UBR B @uietd U fear sam ® 7
(A) N gBHRE (B) = e=g

(C) famfa s (D) AT (FH1 g ursdl
Separately excited and self-excited are types of which machine?
(A) DC machine (B) Synchronous machine
(C) Induction machine (D) None of the above

SIS TISeS U9 U sadges A fRY WeR & "E B g
a8 ?

(A) A w3 (B) Toasiferer AL

(C) wRur w3h=1 (D) S8 | HE 40

In terms of relays, IDMT relays stands for
(A) Inverse direct maximum time lag
(B) Inverse definite minimum time lag
(C) Inverse definite maximum time lag
(D) None of these

e & d99 § IDMT a1 & ?
(A) 99 sSvae ferawHa TEA o
(B) s=tu =fpc Afmm eEa &
©) == Sfhac s @@d T
(D) 398 ¥ THE A8t

In a three phase Induction motor normally

(A) The rotor rotates in the direction of the rotating magnetic field.

(B) The rotor rotates against the direction of the rotating magnetic field
(C) The rotor rotates depending upon the supply given to it

(D) The direction of rotor rotatiocn does not depend upon the phase sequence
of the stator supply. ,

Hech tRoT HieR #{ wEEgaar

(A) Wexr i e goff g & it & fRwr # Jex gEr '

(B) wWex i fafyg it greea o @ fauda Rew d dex g §

(C) ¥Ex F§ A TE T P IWR WX SR FPHAOT B

(D) Jex #H T F fwm WRer o @ B gsd w i T8
&l B

Value of V,; will be-

V, @& " 8W T

\2 T
et T , e
_ . N
1A “ sy 70 LT s
| .
(A) 2V ' - (B) 4V
(Cy -i1aV (D) -2V
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46 The equation of velocity of propagation in transmission lines is given by-

SfATE =T A WeNE X9 ST AT

1 . L

A = [T = (SR,
(A) ?LC B) P
r (‘

C) 1= Jrec D) "= =

47 The integration of a three phase Alernator with the infinite grid requires
which quantities to be same?
(A) Voltage (B) Freguency
(C) Phase sequence (D) All of the above
WWW%W%@WW%@'ﬁ%&M@
R = B aifay ? '
(A) A B) gy
(C) @9 rgmw D) sudEr

48  The resistance R, ;, will be:
ufd™r R, &1 AF 8y ?

50
-—1 T}
200
100 %40(1
b
(A) 12 © B) 16 £
(C) 10 © (D) 20 Q

42 One AU equals to
TH AU &1 #5F Bar & ?

(A) 10%m (B) 10°%cm
(C) 10%cm (D) 10'9%cm
50 Which one of the following is not a fractional horse power motor?
(A) Shaded Pole motor (B) Repulsion motor
(C) Universal motor (D) Synchronous motor
P 3 @l e Beerter sRidfar sirew adt 8 2
(A) =TS yga #Aex (B) uftredm wHew
(C) widf3sp Hiex (D) g Mew
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The value of "R’ in thc‘-;a circuit is.

:&A AN
+ 10V - 100

Saa o= 8§ R 1 §E 8R 7
(A) 10 & B) 5 Q
(C) 25 Q (D) Cannot be found
' A8 [Aeow S e

Incandescent lamp is

(A) Tube light ' ‘ (B) Bulb

(C) Sodium lamp {D) None of these
(A) TYs = (B) <=

(C) <fsaw osa (D) FTTH ¥ FE T

The machine in which energy transfer happens both through induction and
conduction, is called '

(A) Two winding transformer

(B) Auto transformer

(C) Three phase Induction motor

(D) Single phase Induction motor

aE "IN orad GEl T BNIOR, U7 U 9ieH (BHSaR) |19 | 8
e ®mr o AM B ?

(A) <1 GBISl TTHBHR (B) i1 TiawpR
(C) fHoeh URor "Hiex (D) TP Woll WY HICY
The voltage V,, in the figure will be
5V
R AR —
V==
' it Ob
1V
Saa =& ®H V,, &1 #+A . 8Fn 7
(A) 3 Volts (ares) {(B) 7 Volts @)
(C) -3 Voits (@) (D) O Volts (a]z—i-:)
In the case of three core flexible cable the colour of‘ the neutral is
{A) Black (B) Blue
{C) Brown (D) Green
dH BR yoeSad HEd H i CE gl [ BT 8 ?
(A) &I : “(B) et s 4
(C) 3§ ' (b)) =1
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The maximum value of power factor is

AT YUk B o WET AT 2

(A) 0.5 : @) 1
(C) 15 D) 20
The voltage V., in the circuit (which is a part of a larger circuit) will be
SV N
a ,:QV\ b 20
< AN
5A 80
ST fora 3 (O v IR e @1 B ®) F deew X0 srm ?
(A) 3 Volts (dree) (B) -3 Volts (dree)
(C) 15 Volts (dree) (D) -15 Volts (aree)
Solder is an alloy of
(A) Copper and aluminium (B) Tin and lead

(C) Nickel, copper and zinc (D) Silver, copper and lead
TSR U UBNR BT gS 8 7

(A) TR a8 vgfarsg (B) fea vg s

(C©) a1, R wg i D) RieR, Hor wd ors

The internal resistances of an ideal Voltage source and an ideal current
source respectively are (in ohms)

(A) O and oo (B) O and 1

(C) oo and oo (D) oo and O
WWWHW@WWWW%MMU@?NW
=1 87 8 (@im W) ?

(A) O TF oo B) OoTdIi

(C) oo TT o (D) o THO

Which of the following is the description of largest size resistor? (given that
the material used in each is same)

(A) 100 ©Q. 20 Watts (B) 10 €. 100 Watts
© 1K Q. % Watts (D) 1M Q, % Watts

ﬁwﬁ%aﬁqmmﬁ@m%uﬁﬁumm%(ﬁaﬁﬁwzs

g e ®)
(A) 100 ., 20 = (B) 10 €, 100 are
(C) 1 et Q, 1 /2 ae M) 1 7T Q. 1/4 ae

[ P.T.O.
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A thermistor has ‘temperature coefficient of resistance

(A) Positive B) Zero

(C) Negative (D) any of the above

T o o ufoRmr auHEE @ ' BT T BT 8 7
(A) ST ®) T

(C) FITHS (D) 98 & ®E

Calculate voltage at point A
A fig = dics &1 aReed HIfST

e A B
i 1 0.0150 } |
: |
G =l e
eiad * ¥ ~ 00250 oasq LI2A
a '; 1 |
(A) -75V B) -50V
(C) 25V (D) -10V

The filament of an electric bulb is made up of tungsten because
(A) It is cheaper (B) It is brighter

(C) Its melting point is high (D) Its resistance is low

(A) 98 | Srer 8

(B) 98 wHdIS BT B

(C) SEFl Todie 3t Sar &

D) SHEHT SRR HH 8l 8

Transformer oil should have

(A) High flash point (B) High Viscosity
(C) High sludging tendencies {D) None of the above
TEpHR 3ITae # SF1 =fEy

(A) T=a @9 &g B) T AT

(C) <=a wafoiT =S\ (D) 98 rﬁ aﬁ-sz‘ aﬁ

Three equal resistors are connected in series, across a source of emf, dissipate
10 W of power. What would be the power dissipalted when they are connected
in parallel across the same source.

S G oS A wEE gfaiee emf TEM B R 10 die faga a v
%lﬁmﬁﬁgﬁméﬁﬁuﬁﬁmﬁhﬂtwmﬁm
fear <w

(A) 10W (B) 30 W

(C) 90 W (D) 270 W
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An inductor is supplied with 200V at 50 H=z. The current flowing is
10 Amperes. The value of inductor will be
(A) 63.6mQ , B) 20mO

(C) 63.6m Henry (D) 20m Henry
wmaﬁzmaﬁae,msaﬁmf&iwfamm%ﬁmmm

(A) 636 AN 3w B) 20 HN 3
(C) 636 =N =9 (D) 20 N =399

DC servomotors are used in

(A) Purely DC Control systems

(B) Purely AC Control systems

{(C) Both AC & DC control systems

(D) None of these

4. 9. |wat "Aer &1 wEnr Sar 23—

(A) e & @ w2 e d

B) e v A s faweq §

©) ?F—Pr'zﬁw@?%arﬂaﬁm
@) FTTH § PIEF T8

Which of the following material is not used as fuse material?

(A) Aluminum (B) Tin

(C) Lead (D) Carbon
Wﬁ%mmwmmmﬁ%mﬁaﬁmm
A vHaftam B) =1

(©) =t D) FHEA ~

If the current flowing in the circuit shown is 2A, the value of resistance R
will be
Wﬁmwﬁwﬁzvﬁmmaﬁﬁ%?ﬂwﬁmkwqﬁsﬁm

AAA
30
24v—— gR
A) 6 Q B) 30
© 9 D) 12 O

The Household energy meter is

(A) An indicating Instrument (B) A recording Instrument
(C) An integrating Instrument (D) None of the above
TR, SHAT Hexw Bar &

(A) TF FEBfeT s=arre ®) T Ao gz
©) v ghAfST s== D) T 4 PE T8

[P.T.O.
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71 If Rg in the circuit shown in figure is variable between 102 and 409 then
maximum power transferred to the load Ry will be

I #§ fewgmw w1v gRuy 7 afd Rg 10Q 3ﬁ‘\'4ona‘?é’ranﬁa?ﬁ%?ﬁ
dre BT R; 9 IoRa afSrean ofts 8ri—

‘ﬂﬂl
20\<’> | % R =100

(A) 15 W (B) 1333 W
(C) 10W (D) 24 W

72 The value of R, will be

Rap — p—
a v s
m*’] . 30 y
g . % | h <

T frE # Rpp &1 A4 gml
(A) 64 Q (B) 24 Q
(C) 144 Q (D) 14 Q

73 A Q meter measures
(A) Losses in a capacitor
{B) frequency
(C) accurate values of electrical quantities
(D) Properties of the coils
Th Q #Hex dudar &
(A) aRee =ifa

(B) Irgfa
©) !agélu gt & p3 = HOH B C
(D) wiaa @ IO B
74 Permeance is analogous to _ i
(A) Conductance . (B) Reluctance
(C) Inductance : (D) Resistance ... ;.-
gepaaradr Jged ekl 8— ; Eem, 2
(A) TSA®Hd & B) T & :
© Wor B - D) uRRwEr & TV
EJE-2015 / lI_A ] 61
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The current I, in the circuit shown is

—

4

T10a 4A

28

—_— e —

~ WA Naa'd =
s

- Bm A gawr I, Srf

(A) 4A B) -2A
©) -4A D) 6A

Synchro is

(A) Parabolic transducer (B) An angular position transducer

(C) A synchronizing transducer (D) A variable transducer

T 2

(A) UEies giegar (B) UTFH TPk 9GEA giEsSTE]
(©) T Rl gHeSgER (@) T 3999 STEHSgER

"Value of R is

URRErs (R) &7 @191 —

‘!ﬂ i =4

]_,,, A _- ¥ A = =% . ;

1 1A' A
2a() o M —%— eV
(A) 4 ' B) 6 O

-(C) 8 Q (D) 18 ©Q

In star-star connected transformer.

(A) Line voltage is equal to phase voltage

(B) Line voltage is equal to /3 ‘phase voltage

(C) There is no line current

(D) There flows no phase current

Th TRI-ORT IJEE SBET §—

(A) EF dicedar ®91 dleedl @ SRIER SRT S

B) <EH dicea 3 Bul dieedr @ I9Ew a7 2

(C) 18 N o= T =S85 8- 2
D) E AN daAT gRT »l gEET FE] =SGT B
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Relative permittivity can be measured by __ Bridge.
(A) Wheat stone (B) Hays

(C) Schering (D) Desauty’s

Refea o Eadl &1 AT e, o g v - ¥ —
A) Qe ®B) T

(C) RmERRET (D) IEs

The reluctance of the magnetic circuit shown in fig is-

A Ry v g \/iFe o1 ufos &

........ O S
it
N
NI
(A) 7 ; B) NIxlI
NI ¢
© 5 o 7

In a transformer copper losses at full load and unity p.f. are 800 W.
The copper losses at full load and at 0.8 p £ lagging will be
Mamtmﬁvﬁmﬁtarm@mwmmwaoow

2 oft R wd wfdagees os AT & o1 amefa &1 79 gFm-
(A) 400W (B) 640W
(C) SO0O0W (D) 200W

motor is a constant speed motor
(A) Synchronous motor (B) Schrage motor
(C) Induction motor (D) Universal motor

Her Fga afay d@ew 21

(A) fa=prma Hiew B) HRw #ex
(C) sS~Ss®@H HeX : (D) Fiads HAeY

Find total power consumed in the circuit given-

ﬁqwuﬁqaﬁﬁgaaﬁmwmqﬁwaﬁﬁm

.50

I i
$10 i1
10 .
D
(A) 266.25W (B) 261.5W
(C) 264W (D) 268W
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A 3¢ synchronous motors has been provided with damper winding. It can

be started as a
(A) Simiple phase synchronous maotor

(B) 3¢ squirrel cage induction motor

(C) 1¢ induction motor

(D) 3¢ alternator

T Hwen geuwae Ay #§ srguweas arEfage wee fhur v 81 s
e 3 O AT 8

(A) TTHS el geuaEtAde wew B sg #H

(B) Hear f8srd w=or e & wg #

(C) Y@t &arT Uor Hew & By o

(D) HFHAT JoeTHeY B BT J

The gas filled in vacuum filament lamps is

(A) Nitrogen {B) Argon

(C) Air (D} None

JagqA fhave a3y & 99 8 | = @ 9 989 8aid &
(A) "NETITA (B) amh=

(C) arg (D) w1EF T8

The wave shape of current flowing through an inductor is

fFe Gvr # uaiad oRT ®T ¥ ST SR usR & St r 2

T W
The wave shape of voltage drop (V) across the inductor is
AEHER OY U B WhEG A AecTT—grd (v) BT a8 AMHR o § a9
ar o srn 7

iT.
(A) B) \;_,/1
o T 1 (=] 11—
q o'
v B e
(©) / ’} (D) v
o T — T t—>
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The creeping is observed in

(A) Ammeter meter (B) Wattmeter

(C) Energy meter (D) Volt meter
fawedor (@A) frar 399 @ fpad & ot B
(A) e #Hiew (B) g

(C) oIl Mex (D) dreeHieR

Carbon arc lamps are commonly used in

(A) Photography (B) Cinema projectors
(C) Domestic lighting (D) Sitreet lighting
(A) HEIm #H @) RFm goeey A
(C) =% umrer # M) TSH "bT H

The energy stored in the magnetic field of a solenoid 10cm long and 2cm
diameter, with 1000 turns of carrying current of 10A is

10 A B ORI H a8 BT Gl aR D 1,000 B F w10 FHH
iR 2 W =TE areh TRt @ grEe & N R e w1 W
BT

(A) 1.15] (B) 0.015J

(C) 0.19) (D) 0.5

Electrostatic instruments are used for measuring '
(A) AC and DC voltage "(B) AC Voltage and current

(C) DC voltage and current (D) AC and DC currents
Rerx dga Sudxvr fEd Ama & wAFT W AN ST B

(A) AC 3R DC dreedr (B) AC deedl 3R &Rl
(C) AC dieedT 3R oRI (D) AC 3R DC «9rI
The gain of an operational amplifier will be maximum at-
(A) 1Hz (B) 50Hz

(C) 100Hz (D) DC

Th IMRIAT TENHER &7 9 Aferpad &r—

(A) ©o &SH (B) 50 ®&CH

(C) 100 BZS o) I AL H

Value of R in £
R &7 #M14 Q #H —

bves 38
100V 100 R
(A) 10 Q ' (B) 20 Q
(C) 30 Q D) 40 Q
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Distribution transformers have core losses-
(A) More than full load copper losses
(B) Equal to fuli load copper losses
(C) Less than full load copper losses
(D) negligible compared to full load copper losses
faovor aRenfacs 3 frad wrs =1y =i 22
A) o7 R Tm st 9 s
B PF 9yrR am =T & swEe
(©) 9o1 ¥R am siflar 9 =9
(D) 9ot \AR g =t 35 godT §  Sarueg

Which one is not a basic logic gate?

(A) AND gate (B) NOT gate

(C) NAND gate (D) OR gate

ST 4 I RS G e T8, &

(A) AND = B) H#ie I

(C) O=s 9= ) JR e

Tesla is same as

(A) weber/meter (B) weber/ (meter)2
(C) farad/ meter (D) Henry /(meter)?
THAT fras s 24

(A) s/ FHex @) dq=IT/ #Hiex)?
(©) s/ HAex (D) BT/ FHex)?

What are the advantage of DC transmission system over AC transmission

system?

(A) DC system is economical for long line

(B) There is no skin effect in DC system

(C) Corona limits are highest for DC circuit as compared to AC circuit

(D) All of the above
Q_@.mmwaﬁﬁmﬁsﬁm%mw?

(A) i3 .
(B) SI¥. goneh & & ar gag 95 =iar
©) Eﬁﬁﬁmﬁmqﬁ,ﬂﬁ%aﬂmﬁiﬁeﬁomﬁm%l

(D) JTUaT Ty
NMI stands for

(A) Non-mask interface (B) Non-makeable interrupt
(C) Non-mask interaction (D) None of there

NMI &1 #Add9 88—

(A) S A s=I$H B) = APTa s=ve

(C) =\ Al s<WaEE @O) wE T8

The dissipation factor of good dielectric is of the order of
S AATTH B I PRS E [N @y g1

(A) 0.0002 (B) 0.002
(C) 002 D) 0.1
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99  Voltage under extra high voltage are-
(A) 1KV and above (B) 11KV and above
(C) 132KV and above {D) 330KV and above
afaRad Soa dew @ I=Ea diees 8l &
(A) 1 3 3R FuR B) 11 dd 3R JHIA
(C) 132 @ IR FW (D) 330 HA MR FHWR
100 A passive network is one which contains
(A) Only variable resistance
(B) Only some sources of emf in it
(C) Only two sources of emf in it
(D) No source of emf in it
(A) Had ANAe9a Ul 81 (B) dadd Y emf Y
(C) Haal a1 emf HH (D) ®E emf HE &I
101 Coal used in power plant is also known as
(A) Steam coal (B) Charcoal
(C) Coke (D) Soft coal
fasiehl wuw § sEE Sl e w9 7 W S San ©
A) H PIEdm (B) FARDIA
(C) Db D) RA HIFAT
102 If the height of transmission tower is increased, which of the following
parameter is likely to change?
(A) Resistance (B) Inductance
(C) Capacitance (D) None of the above
GRYeT TRl @ SEiE "¢ WY & O P Augst @, O 486 @t
AT B |
(A) ufeRer (B) T=S&Hc-dH
(C) Hufae—H (D) Sudad H | PiEg A8
103 One Maxwell is equal to
(A) 108webers (B) 10%webers
(C) 10%webers D) 10%webers
Teh HaEdd =
(A) 1078 a&d (B) 10% a€4
(©C) 10% J=d o) 10® F§H
104 Which of the following is not part of diesel engine power plant?
(A) Cooling tower (B) Penstock
(C) 0Oil pump (D) Strainer
fra 8 @ @ G Sioe g9 fAuen 'aE &1 a8 @9
(A) @feT e B) TEiF
(C) W« U ®) WK
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105 ACSR Conductor having 7 Steel strands surrounded by 25 aluminium ®

t

lr'?

108

109

EJE-2016 / II_A )

conductor will be specified as

2smmﬁ%r-ﬁav€oaACSR ®r fFa ave fAffs
fear s 7

7 7
W 33 B =z
25 25 -
©) = (D) 33
Which of the following primary cells has the lowest voltage? )
(A) Lithium _ (B) Zinc- chleride
{C) Mercury a% (D) Carbon-zinc
=1 4. & fra weifie A9 9 arcew =T /°
(A) ey _ B) fSies-—=eiiviss
©) =B D) HET-fis

Compressor used in gas turbines is
(A) Reciprocating compressor (B) Plunger type cCOmpressor
(C) Screw compressor (D) Multistage axial flow compressor

Wmﬁgﬁm%&mﬁw@w&r%

(A) YIEMHRET PR (B) wiSlY I3y R

(C) Y9 FHuaw (D) AT 3N yare waraw
Steel poles for transmission lines need protection against-

(A) Termites (B) Borer

(O Corrosion_ (D) All of the above

aREor SIgAl B R, swrT 9ra wr e WRETOT Y ITATHHAT 2 29
(A) EHp (B) «ERv

(C)y < S (D) SUTisRy T

In a system if the base load is same as maximum demand. the load factor
will be

A 1 (B) Zero

(© Infinity (D) 1 percent
éﬁm'”ﬁaﬁﬁﬁﬁzﬁmﬁééﬁmﬁu‘mﬁﬁmﬁ}mm
A 1 N 3B) _

©) sfotE (D) 1 ufdwia

In the analysis of short transmission lines, which of the f‘olloﬁring 1s neglected?
(A) IPR loss (B) Shunt admittance -

(C) Seriés imipedance (D) Al of the above

Y uREY sngEr @ fAvomuer ¥ ey R G IBadt ousy @Y g 2
(A) PR =1y - B) e us@Paam

©) Haem yfeemmr D) SuAF
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111 The period of a wave is
(A) the same as frequency '
(B) Time required to complete one cycle
(C) expressed in amperes
(D) none of the above
s a9 &1 dgiRgs &
(A) frFa=f S=r
@) T = g s @ fag afsa w4
(C) vufumd # ==
(D) SWRIE d & HI1s T80
112 The power factor of a system on a 460V, 3 Phase, 60Hz, in which the
ammeter indicates 100amp and watt meter reads 62KW will be
ﬁﬁ@'wmétaﬁtmﬂtﬁﬁwimTﬁmTuﬁfwméTqv4a)@ﬁazﬁmteo
8ol GR wfe} 100 Amp 3R aciieY 62 KW & afSn Rewn 8
(A) 0.95 (B) 0.78
(C) 0.65 ' @) 055
113 A C T is connected in with the line
(A) Series (B) across
(C) Both Aand B (D) Not connected
v CT s & WeRf J ST BT B
(A) si@ern ®) IR
(C©) A 3k B T O) TS A8 B
114 Armature reaction of an unsaturated DC machine is
(A) Cross magnetizing (B) Demagnetizing
(C) Magnetizing f (D) None of the above
segw Y W AL @ IR wfafear @ B
(A) H™E SIS ®) e -
(©) HmacistET . D) Suw dH | PiE A8
115 When alternating current pass through a conductor
(A) It remains uniformly distributed throughout the section of conductor
(B) Portion of conductor . near the surface carries more current as compared
to the core
(C) Portion of conductol near the surface carries less current as compared
to the core h :
(D) Entire current passes through the core conductor
o wedey B HEIH ¥ w@Edl oRT Yean ¥, a9
(A) I§ A B9 J $ogey & grT W 7 fFafRa wwar #)
(B) @R & gernm % was @ 9w e g 8k 81
(C) @R & ga § waw d U HAH grr 'x B
o) W ORI FsdeY PR O Yo B S . 30
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116 Inductance furnaces are used for
(A) Meilting of aluminum (B) Heating of insulator

(C) Heat treatment of casting (D) Al of above
UvOT Afeedr wArT fear wrar 2

A) HFTm & fagas & farg

(B) FHIER BT TH B P farg

(C) =HIREST 1 W Suar

(D) Furaa w A
117 Speed control by Ward Leonard method gives uniform speed variation
(A) In one direction (B) in both direction

(C) below normal speed only (D) above normal speed only
mmﬁﬁﬁﬂﬁﬁﬂwﬁmmmﬁmﬁ
(A) U= faer & (B) ar fEensi i

(C) wmr=g wifag ¥ g D) 9= O9fag 94 SR

118 For distortion less transmission line

UF o faeuor wawer oz @ farg

(A)y R/A=G/C B) RL=GC
(C) RG=LC (D) RLGC=0

119 For arc heating, the electrodes used are made of-
(A) Aluminium (B) Tungsten
(C) Copper (D) Graphite
mm%éif?fﬂa%%w,ﬁ?wmgzﬁaﬁsﬁaﬂsmiﬁﬁ%?
A) vgfafage B) TIEeH
() U (D) UwIsT

120 The highest voltage for transmitting electrical power in India is
R A g wits @Wwer g Sesaw ot &
(A) 33kV B) 66kV
{C) 132kV (D) 400kV
121 When two conductors each of radius r are at a distance D, the capacitance
between the two is proportional to-

r%@%ﬁaﬁwﬁiﬁaﬁaﬂwﬁﬁD%?ﬁaﬁﬁ%&rﬂﬁ
PR T Iangufas &)

a) log, [?] ®) log, [-f,—)
1 . 1
©  log, (-;’i) : ®)  log, [%)
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122 The power factor will be leading in case of -
(A) Induction heating (B) Resistance heating
(C) Dielectric heating (D) Electric arc heating
qeR Baex e § e Rafy § sl g 7
(A) WRUT 9= - B) ultEEr sw=
() sHEzdlEs S (D) sofdg® I SHA
123 The low power factor of induction motor is due to
(A) rotor leakage reactance
(B) stator reactance
(C) the reactive lagging magnetizing current necessary to generate the
magnetic flux
(D) all of the above
Feag HIeR @ Uk Baex e AF o7 [$E BReT | BT
(A) Yex daws Ruaewd
B) wel Ruaey
(©) HFmafees weew Yar w1 & o srazas. Rufeea At frrostsa
TS
D) SuRE I
124 Alternating current is transmitted at high voltage
(A) To safeguard against pilferage
(B) To minimize transmission losses
(C) To reduce cost of generation
(D) To make the system reliable
qeradt SRT T U6uT arcafe oed dlect R fhur wuar §
(A) = & Raeaw wen & faw
(B) weRUT B @ A w1 @ fa
(C) Sred @ ar B e B o
D) woeh @1 RAgawtm T @ o
125 Which among the following cable are generally suited for the voltage up to
11kV?
(A) Belted cabless (B) Screened cables
(C) Pressure cables (D) None of these
frefRag Sas @& 9§ O W 11 WV @@ @ drew @ oW
JUgER B - :
(A FJ=s e B) W= e
(C) Jwx HfES (D) T & FE T
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